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ВВЕДЕНИЕ
Основной целью обучения обучающихся английскому языку в технической средней специальной учебной организации является достижение ими практического владения этим языком, что предполагает при заочном обучении формирование умения самостоятельно читать литературу по специальности с целью извлечения информации из полученных источников.
Особенностью изучения иностранного языка в заочной системе обучения является то, что большая часть лингвистического материала должна прорабатываться самостоятельно.
Учебное пособие может быть использовано при подготовке обучающихся к промежуточной и итоговой аттестации, а также в процессе их самостоятельной работы по овладению рядом общекультурных, профессиональных и коммуникативно-ориентированных компетенций.
Промежуточная аттестация по иностранному языку проводится в форме:
	23.02.01 Организация перевозок и управление на транспорте (по видам)

	1 курс - дифференцированный зачёт

	2 курс - дифференцированный зачёт

	3 курс - дифференцированный зачёт


ОБЩИЕ ПРАВИЛА ОФОРМЛЕНИЯ И ВЫПОЛНЕНИЯ КОНТРОЛЬНОЙ РАБОТЫ
1.  Контрольная  работа  выполняется письменно в рукописном виде. 
На  титульном  листе указывается: 
Дисциплина
ФИО преподавателя 
ФИО обучающегося полностью,
шифр обучающегося, 
курс и номер группы,
2. 
Обучающийся выполняет вариант контрольного задания, соответствующий последней цифре студенческого шифра (студенческого билета):
	Последняя цифра шифра
	Номер варианта

	1
	1

	2
	2

	3
	3

	4
	4

	5
	5

	6
	6

	7
	7

	8
	8

	9
	9

	0
	10


3. Выполненная контрольная  работа должна содержать формулировки и исходные данные всех заданий   и полные  ответы на поставленные вопросы.
4. Каждое задание выполняется на отдельной странице.
5. В конце работы необходимо указать список использованной литературы, дату  выполнения и подпись обучающегося, выполнившего работу.
6. Работа, выполняется аккуратно и без исправлений, четким, разборчивым почерком.
Контрольные работы следует сдавать для проверки в установленные сроки (не позднее двух недель до начала экзаменационной сессии).
Если указанные требования не соблюдаются в полном порядке, работа считается не выполненной.
7. При получении проверенной рецензентом контрольной работы необходимо внимательно прочитать рецензию, ознакомиться с замечаниями и проанализировать отмеченные в работе ошибки. Руководствуясь указаниями рецензента, повторить не вполне усвоенный Вами учебный материал. Все предложения, в которых были обнаружены орфографические и грамматические ошибки или неточности перевода, переписать начисто в исправленном виде в конце данной контрольной работы.
Рекомендуемые учебные пособия и справочные  материалы
Основные источники:
1. Карпова, Т.А. English for Colleges = Английский язык для колледжей. Практикум + Приложение : тесты. : учебно-практическое пособие / Карпова Т. А., Восковская А. С., Мельничук М. В. — Москва : КноРус, 2020. — 286 с. — (СПО). — ISBN 978-5-406-07527-2. — URL: https://book.ru/book/932751— Текст : электронный.
Дополнительные источники:
2. Голубев, А. П.Английский язык для всех специальностей : учебник / А. П. Голубев, Н. В. Балюк, И. Б. Смирнова. — Москва : КноРус, 2020. — 385 с. —ISBN 978-5-406-07353-7. — URL: https://book.ru/book/933691. — Текст : электронный.

3. Радовель, В. А. Английский язык для железнодорожных специальностей : учебник / В. А. Радовель. — Москва : КноРус, 2020. — 348 с.  — ISBN 978-5-406-01729-6. — URL: https://book.ru/book/936527. — Текст : электронный.

4. Брель, Н. М. Английский язык. Базовый курс : учебник / Н. М. Брель, Н. А. Пославская. — Москва : КноРус, 2019. — 272 с. — ISBN 978-5-406-01693-0. — URL: https://book.ru/book/936858 . — Текст : электронный.

5. Брель, Н. М. Рабочая тетрадь к учебнику Английский язык. Базовый курс : учебное пособие / Н. М. Брель, Н. А. Пославская. — Москва : Русайнс, 2019. — 86 с. — ISBN 978-5-4365-3790-0. — URL: https://book.ru/book/934595. — Текст : электронный.

6. Тематические упражнения, тексты и задания по темам: «Город, деревня, инфраструктура», «Английский язык – мировой язык», «Образование в России и за рубежом, среднее профессиональное образование» : метод. указания для реализации программы учебной дисциплины «Иностранный язык» / С. М. Ронжина. – Киров, 2021 – 10 с. - Текст : электронный // ЭБ филиала.
Перечень профессиональных баз данных и информационных справочных систем:
7. Macmillan Education - (методические разработки российских преподавателей английского языка) :  — URL: https://book.ru/book/936527

HYPERLINK "http://www.macmillan.ru/" \hhttpwww.macmillan.ru/. — Текст : электронный.

8. BBC. Русская служба. Learning English   : — URL: http//www.bbc.co.uk/russian/learning_english/. — Текст : электронный.
9. Developing Teachers.com .  (сайт для преподавателей английского языка).: — URL : wwwwww.developingteachers.com. — Текст : электронный.
Перечень профессиональных баз данных и информационных справочных систем:

11.
КонсультантПлюс : справочно-поисковая  система : официальный сайт. – URL : https://www.consultant.ru/. - Текст : электронный

12.
Гарант : информационно - правовой портал. – URL : https://www.garant.ru/ . – Текст : электронный.

13.
Кодекс : профессиональная справочная система. - URL : http://www.kodeks.ru/. – Текст : электронный

14.
АСПИЖТ : система правовой информации на железнодорожном транспорте. – URL: https://niias.ru/products-and-services/products/asu/avtomatizirovannaya-sistema-pravovoy-informatsii-na-zheleznodorozhnom-transporte. - Текст : электронный

15.
Электронная библиотека Учебно-методического центра по образованию на железнодорожном транспорте : официальный сайт. – URL : https://umczdt.ru/books/. – Режим доступа: для авториз. пользователей. - Текст : электронный.

16.
Лань : электронная библиотечная система. – URL : https://e.lanbook.com/. – Режим доступа: для авториз. пользователей. - Текст : электронный.

17.
BOOK.ru: электронно-библиотечная система : сайт / КНОРУС : издательство учебной литературы. – URL  : https://book.ru/. – Режим доступа: для авториз. пользователей  - Текст : электронный.

19.
eLIBRARY.RU : научная электронная библиотека : сайт. – Москва, 2000. – URL : http://elibrary.ru. – Режим доступа: для зарегистрир.. пользователей. – Текст : электронный.

20.
Министерство транспорта Российской Федерации : официальный сайт. – Москва, 2010-2023. – URL : https://mintrans.gov.ru/. – Текст : электронный.

21.
РЖД : официальный сайт. – URL : https://www.rzd.ru/. – Текст : электронный

22.
Федеральное агентство железнодорожного транспорта : официальный сайт. – Москва, 2009-2023. – URL : https://rlw.gov.ru/. – Текст : электронный.

23.
СЦБИСТ : сайт железнодорожников № 1. – URL : http://scbist.com. – Текст : электронный.
В зависимости от уровня владения английским языком возможно использование других учебных пособий, самоучителей английского языка, грамматических справочников, общих и специальных англо​-русских словарей.
ТРЕБОВАНИЯ К ДИФФЕРЕНЦИРОВАННЫМ ЗАЧЁТАМ
1. К  дифференцированным зачётам на 2 и 3 курсах допускаются только те обучающиеся, у которых контрольная работа зачтена, что отмечается в рецензионном листе.
2. Преподаватель, принимающий дифференцированный зачет, оставляет за собой право задать дополнительные или уточняющие вопросы по заданиям, выполненным не в полном объёме или с ошибками, потребовать объяснить позицию автора контрольной работы, если она вызывает сомнения.
3. Для подготовки к дифференцированному зачёту (тестовая работа) на 1 курсе необходимо проработать и усвоить следующие разделы курса английского языка:
1. Основные звуки и интонемы иностранного языка.
2. Правила чтения (типы слогов).
3. Простые нераспространенные предложения с глагольным и составным именным сказуемым и порядок слов в них.
4. Понятие глагола-связки.
5. Безличные предложения.
6. Понятие об артикле.
7. Притяжательный падеж существительных.
8. Образование множественного числа существительных.
9. Местоимения (личные, притяжательные, указательные и неопределенные).
10. Числительные: количественные, порядковые.
11. Конструкция there is/there are. Особенности перевода.
12. Образование и употребление глаголов настоящего времени.
13. Образование и употребление глаголов прошедшего времени.
14. Предлоги (места, времени и направления).
15. Модальные глаголы и их эквиваленты.
4. Чтобы успешно выполнить контрольную работу №1  и подготовиться к дифференцированному зачёту (2 курс), необходимо проработать и усвоить следующие разделы курса английского языка:
1. Образование множественного числа существительных.
2. Понятие об артикле.
3. Притяжательный падеж существительных.
4. Виды местоимений в английском языке.
5. Глагол BE в английском языке.
6. Глагол HAVE в английском языке.
7. Чтение дат в английском языке.
8. Образование и употребление глаголов в Present, Past, Future Simple/Indefinite.
9. Структура вопросительных предложений: общие и специальные вопросы.
10. Числительные: количественные, порядковые. 
11. Конструкция there is/there are. Особенности перевода.
12. Степени сравнения прилагательных.
13. Сравнительные конструкции.
14. Сложноподчиненные предложения.
15. Инфинитив и инфинитивные обороты и способы передачи их значений на родном языке.
На зачете необходимо показать правильное произношение слов, теоретические знания и практические умения при работе с грамматическими явлениями.
5. Для успешного выполнения контрольной работы №2  и подготовки к дифференцированному зачёту (3 курс), необходимо проработать и усвоить следующие разделы курса английского языка:
1. Множественное число существительных.
2. Исчисляемые и неисчисляемые существительные.
3. Понятие об артикле.
4. Притяжательный падеж существительных.
5. Виды местоимений в английском языке.
6. Неопределенные местоимения Some, Any, No и их производные.
7. Числительные (количественные и порядковые).
8. Чтение дат в английском языке.
9. Степени сравнения прилагательных в английском языке.
10. Глагол BE в английском языке.
11. Глагол HAVE в английском языке.
12. Конструкция THERE IS (THERE ARE).
13. Предлоги времени и места.
14. Модальные глаголы и их эквиваленты.
15. Времена группы Indefinite (Simple).
16. Времена группы Continuous.
17. Времена группы Perfect.
18. Виды вопросов в английском языке.
19. Способы выражения будущего времени в английском языке.
20. Косвенная речь и согласование времен.
21. Страдательный залог.
22. Инфинитив и инфинитивные обороты.
23. Причастие. Функции причастий в предложении.
24. Герундий.
25. Сослагательное наклонение.
26. Сложносочиненные предложения.
27. Сложноподчиненные предложения.
На зачете необходимо показать правильное произношение слов, теоретические знания и практические умения при работе с грамматическими явлениями.
КОНТРОЛЬНАЯ РАБОТА №1 (2 курс)
ВАРИАНТ 1
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. They missed the last commuter train because of the traffic jam.
2. The mechanic is busy now but he promised to examine the engine of your car.
3. If we drive at such a speed all the time, we shall arrive at the village before the dark.
4. A dispatcher controls the movement of trains over a definite section of track.
5. Moscow is a major transport junction. Over 300 long-distance and 2000 suburban trains depart from 10 Moscow terminals daily.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1.  Robots [to substitute] people in some monotonous operations soon.
2. It [to take] only 35 minutes to travel by train from Britain to France.
3. Englishmen very seldom [to talk] on the Underground. They [to prefer] to read newspapers.
4. In London we [to transfer] from the train to a bus.
5. The policeman [to stop] the  traffic so that the ambulance could pass.
Задание 3.Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. Steam locomotives require extensive servicing after only a few hours’ operation.
2. The engine-driver’s cab is equipped with new signaling devices.
3. On the first railways there were no conductors and an engine-driver collected the passengers’ fares himself.
4. The engineers continue to work on the problem of increasing passenger trains’ speed. 
5. After an hour’s break we resumed our work.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. Airplanes are [fast] but  [expensive] means of transportation.
2. The maintenance cost of a diesel locomotive is three times [great] than that of an electric locomotive.
3. The internal combustion engine is [powerful] than the steam engine because it uses [good]-quality fuel: petrol or kerosene.
4. Construction of the permanent way became [easy] and [quick] after the invention of special track-laying machines and other equipment.
5. Passengers traveling from Moscow to Vladivostok move the hands of their watches seven times because the Trans-Siberian Mainline, [long] railway on our planet, crosses seven time zones.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. The replacement of the old engine will take two hours.
2. At peak hours the Metro trains run with small intervals.
3. In the USA the use of electric power in transportation began in 1887.
4. There are 2 types of bus stops in Britain – the compulsory stop and the request stop.
5. This new train develops a very high speed since it is fitted with powerful engines.
Задание 6. Перепишите и письменно переведите  текст на русский язык. 
RAILWAY  TRANSPORT  IN  RUSSIA
To cope with the intensifying traffic railway transport needs to upgrade its operational standards, accelerate the process of re-tooling at its operating facilities, and make a more efficient use of all its resources.
Today the industry will mobilize its research and production potential to resolve the most important scientific and technical problems of transport development and traffic capacity of railways, station and junctions, increase the mass of freight trains, raise the speed of passenger traffic, upgrade the quality of services for passengers and secure higher labour productivity and better working conditions. The fleet of passenger cars has been steadily replenished with comfortable vehicles outfitted with centralized air-conditioning, fluorescent lighting, and electric heating systems. The principal requirements of passenger-carrying cars are maximum comfort, rational lay out and design, improved ventilation, heating, water supply and illumination, low noise and enhanced strength.
Further technological efforts will be aimed at raising the reliability and economy of car operation, enhancing and the strength of design while reducing the tare mass and speeding up the transfer to roller bearings and all metal body. There are plans to increase the share of eight-axle open-top and tank cars, and four-axle cars of enhanced carrying capacity and volume.
Задание 7. Ответьте письменно на вопросы согласно тексту.
1. How does railway transport cope with the intensifying traffic today?
2. What are the  principal requirements of passenger cars?
ВАРИАНТ 2
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. Werner von Siemens  constructed the first experimental electric locomotive.
2. The car repair will not take much time.
3. Four million passengers travel the Helsinki-Tallinn route every year.
4. The permanent way consists of rails, sleepers and ballast.
5. The motor is small but it has high power.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. This fast train always [to arrive] on schedule.
2. Yesterday the trains [to be late] because of track repair works.
3. The fare on the London Underground [to depend] on the distance you travel.
4. They [to deliver] this equipment in containers next week.
5. I.I. Polsunov [to invent] the stationary steam engine in 1763.
Задание 3. Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. The trains of Denver’s commuter network transport one million passengers a day but demand is at least three times that number.
2. One of the first things a foreigner notices about the British railways is the platforms.
3. The management of the Gorky Railway pays much attention to the improvement of passengers’ service at the terminals.
4. The length of each track circuit depends on the length of the section at which the trains are to run.
5. Stops at station platforms are under the driver’s control.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. The technological emphasis shifted to [fast] operations, more amenities for passengers, [large] and [specialized] freight cars, [safe] and [sophisticated] signaling and traffic-control systems, and new types of motive power.
2. Road safety remains one of  [important] problems in the modern world.
3. If drivers were [attentive] while driving, there would be [few] accidents on the roads.
4. The[early] children begin to play computer games, the[quick] they learn to manipulate computers.
5. [bad] sections of track were replaced and the others were upgraded.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. The “Repin” train departs from St.Petersburg’s Finlandsky terminal.
2. The accident happened on the bridge.
3. Express trains stop only at large stations on their way.
4. The plant will produce a new model of the car next year.
5. There are discounts only for return tickets.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
UNDERGROUND RAILWAYS
Depending on where in the world it is located, an underground electric-railway system may be called a subway, underground railway, tube, or metro. The underground railway is the quickest, safest, most reliable and comfortable means of city transport. Metro can solve the problems of carrying a great number of passengers within urban and suburban areas as well as the problems of traffic jams, air contamination and noise.
Subways are usually built under city streets, but in order to take shortcuts they often must pass under rivers. From the technical point of view the underground railway system is very expensive and complicated constructional work. This system includes subsurface lines, ground based lines and elevated lines. Ground based lines are usually used at the terminations of the underground railways.
Outside the immediate downtown area, the subway lines usually emerge above ground too, resembling conventional railways or elevated transit lines. Besides, the underground and surface structures involve stations, tunnels, escalators, underpasses, ventilation and sanitary engineering as well as a power supply system.
The permanent way of underground railways differs from the normal railway track. The sleepers are only 0.9m long. They are shorter than those of the railroad track which are 2.7m long. The sleepers of the normal track are laid upon ballast made of broken stone or other materials. The crossties of the underground railway are laid directly on concrete base. It is more expensive but keeps air free from dust. If the ballast were made of slag, gravel, sand or even broken stone, the train would be followed by the dust clouds. Modern Metro trains are powered by electricity. The current is obtained from the third rail. This contact rail is laid along the whole track and transmits the direct current of 825 volts to the train electromotor through the pantograph.
The Underground carrying capacity depends on the number of coaches which ranges from 2 to 8 per train and the frequency of train running which ranges from 80 seconds to 10 minutes.
Задание 7. Ответьте письменно на вопросы согласно тексту.
1. Why is it necessary to construct Underground railways in large cities?
2. Why is there no ballast on the underground railways?
ВАРИАНТ 3
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. An automatic engine driver is a small-size computer with transducers.
2. The speed of Metro trains reaches90 km/h.
3.  This railway company will transport freight only.
4. I work for a construction company which has a lot of contracts in other countries.
5. We left our car in the parking lot near the terminal.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. He usually [to buy] round trip tickets.
2. The suitcase [to be] so heavy that Robert had to change it from hand to hand all the time.
3. The underground is a very convenient means of transport but it [not to suit] me because I [to live] a long way from the station.
4. The introduction of a better technology [to save] both time and labor.
5. Steel sleepers first [to appear] in Europe in 1868, mainly due to the shortage of durable wood in some countries.
Задание 3. Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. The management accepts no responsibility for cars parked in the car park.
2. We want to hear young people’s views about our transport services.
3. It is the responsibility of the nurse to control the patient’s condition.
4. All this makes operators’ work more responsible and nervous.
5. She’s a good driver and controls the car very well.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. Road accidents are [frequent] in rainy weather.
2. It is [convenient] to carry these goods by lorry than by rail.
3. In the USA people prefer to use motor transport or aircrafts because traveling by train is [slow] than by plane and tickets are sometimes [expensive].
4. Thanks to the invention of the radio it is possible to communicate with [remote] parts of the world.
5. Railways cause [little] air contamination than other modes of transport.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. She left her driving license at home.
2. Now all the railways have a standard gauge.
3. The load weighs a hundred kilograms.
4. Introduction of ATC is important from economic point of view.
5. His father knows everything about the latest achievements in electronics.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
KINDS  OF  TRANSPORTATION
There are three main kind of transportation: land, water and air. Each has advantages and disadvantages. For example, trucks and trains can operate in storms that may ground airliners or keep ships in harbours. Weather and geographical conditions may also determine the type of transportation used in a region. 
On land, the chief forms of transport are automobiles, railroads, trucks, and pipelines. Railroads haul about half of the freight transported in the world. Trucks carry about a fifth of this freight, and pipelines transport a little less than a fifth. Boats, barges, and airliners transport the remaining freight. Railroads have equal or greater importance in the transportation of freight in Russia, Europe, and other areas. In addition to hauling freight, most railroads provide passenger service between cities and towns. Commuter trains transport thousands of persons daily between their homes in suburban areas and large cities.  
Railroads move every type of material, but are best suited to haul great quantities of heavy freight. For this reason, railroads play an important role in transporting coal, iron, ore, grain, timber, and other heavy products. Trains can haul freight cheaply because a single locomotive can pull as many as 200 freight cars. 
Trucks cost relatively more than railroads for transportation because, they require more power and more men to move the same amount of freight. But trucks can travel wherever there are roads.  Special trucks used in mining, drilling oil wells, and laying pipelines can operate even in areas that lack roads.    
Задание 7. Ответьте письменно на вопросы согласно тексту.
1. For what kind of freight are railroads suited best of all?
2. What are the main disadvantages of air transport?
ВАРИАНТ 4
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. This article is about a new high-speed railway.
2. It takes passengers 7 hours to get from St.Petersburg to Moscow if they go by overnight “Red Arrow” passenger train.
3.  The driver told his passengers to fasten their safety belts.
4.  The railways play decisive role in the transportation of freight.
5. You will find all the necessary information about the train movement in the railway-guide.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. On the first railways there were no conductors and an engine-driver [to collect] the passengers’ fares himself.
2. In the USA the average speed of  trains on some lines [to reach] 90 miles (146 km) per hour.
3. The train [to leave] for St. Petersburg in 3 hours.
4. The construction of the St.Petersburg-Moscow line [to begin] in 1843 and lasted eight years.
5. Railroads [to operate] two main types of passenger trains: commuter trains and intercity trains.
Задание 3.Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1.  Nowadays London’s transport moves only 4 km faster than in 1912.
2. It was the world's record in the speed of passenger trains.
3. Airplanes are the fastest and the most reliable means of city's transport.
4. It's absolutely clear that Eurostar’s successful service will entirely depend upon the trust of the travelling public.
5. In1991, the most intensive train services at very high speeds were provided by the “Bullet Trains” that run on Japan’s new standard gauge lines.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. The [outstanding] miniature railway in the world is the track which encircles the Disney Park.
2. In Australia the traffic is [heavy] during the winter months, when many tourists travel in passenger trains.
3. Statistically it is [safe] to travel by air than to drive a car.
4. It is much [convenient] to travel by express train because it doesn’t stop at small stations, and it takes you [little] time to get to your destination.
5. Petrol engines are [light] and [small] than diesel engines.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. No planes took off on that day because of low clouds.
2. The service life of steel sleepers lasts from 35 to 60 years.
3. The dispatcher controls the entire section of the line from the single control center.
4. The plant will increase its capital investment in equipment.
5. There are 3,000 Americans who like to collect antique cars.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
PASSENGER  TRAINS
A passenger train travels between stations where passengers may embark and disembark. The oversight of the train is the duty of a conductor. Passenger trains are part of public transport, often make up the stem of the service, with buses feeding to stations.
Intercity trains are long-haul trains that operate with few stops between cities. Trains typically have amenities such as a dining car. Some lines also provide over-night services with sleeping cars. Some long-haul trains have a specific name. Regional trains are medium distance trains that connect cities with outlying, surrounding areas, or provide a regional service. Airport rail links quick access from city centres to airports. 
Rapid transit is built in large cities and has the highest capacity of any passenger transport system. It is grade separated and commonly built underground or elevated. At street level, smaller trams can be used. Light rails are upgraded trams that have step-free access, their own way and sometimes sections underground. Monorail systems operate as elevated, medium capacity systems. A people mover is a driverless, grade-separated train that serves only a few stations, of as a shuttle.  
High-speed rail operate at much higher speeds than conventional railways, the limit being regarded at 200 to 320 km/h. High-speed trains are used mostly for long-haul service, and most systems are in Western Europe and East Asia. The speed record is 574.8 km/h, set by a modified French Magnetic levitation trains such as the Shanghai airport train use under-riding magnets which attract themselves upward towards the underside of a guideway, and this line has achieved somewhat higher peak speeds in day-to-day operation than conventional high-speed railways, although only over short distances. 
Задание 7. Ответьте письменно на вопросы по тексту.
1. What services do trains provide?
2. Where are high-speed trains mostly used?
ВАРИАНТ 5
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. All the railway men have the right of free travel by train once a year12.
2. There are 12 bridges and viaducts on this railway line.
3. If you walk to work you will save $5 a week on bus fares.
4. We arrived at the airport in time to register and weigh our luggage.
5. In spite of the dense fog the train was not late.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. Railroads [to be] more efficient in the use of fuel than either highway or air transportation.
2. A diesel engine [to belong] to a class of internal combustion engines.
3. Taiwan Railways [to buy] 225 trailers and 56 motor cars last year.
4. You need not leave for the airport so early; I [to give] you a lift.
5. Many people [to be] afraid of the railways when they first [to appear].
Задание 3. Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. An illuminated diagram of this kind greatly facilitates the signalman’s task.
2. The world’s longest rail line is situated in Russia.
3. A uniform railroad gauge makes it possible for a person to travel over several railroads without changing cars.
4. The elimination of track joints reduces the expense of track repair and maintenance considerably.
5. Road safety remains one of the most important problems in the modern world.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. One of the[long]continuous underground railway tunnels in the world is the 17.5 mile tunnel on the Northern line of the London Underground.
2. Both roads lead to the city center, but the left-hand one is a bit [short] and [direct] than the right-hand road.
3. New models of computer processors have [great] speed and are [reliable] than the old ones.
4. [good] way to lose weight is to avoid eating fatty food.
5. [early] signals were hand-operated, usually by station employees.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. Japanese railway engineers introduced the system that helps to control a whole trunk line from a single control center.
2. The pilot checks all the controls before take off.
3. Engineers often design railroad bridges and tunnels along the route.
4. The British Parliament objected to constructing railways because the members of the British Parliament did not believe that locomotives could run against a strong wind.
5. The total area of the Earth surface is about 500 million square kilometers.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
HOW RAILROADS SERVE THE PEOPLE
Most people think of communications only when they want to get from one place to the other. But communications are extremely important to the national economy of a country as well. Without good roads and railways a country cannot develop its resources, industry and trade.
Railway transport is still one of the cheapest ways of hauling freight over long distances.
Railroads provide two main types of service: passenger service and freight service. The importance of each type of railroad service varies from country to country.
Railroads operate two main types of passenger trains: commuter trains and intercity trains. Commuter trains carry passengers between large cities and the surrounding suburbs. Most of these trains are equipped with coaches only. Coaches provide seats for passengers but do not usually offer any extra services. Intercity trains make longer runs than most commuter trains do. The longest intercity runs cover great distances and take several days to complete. As a result, many intercity passenger trains have special cars, such as dining cars and sleeping cars, in addition to coaches.
Since the 1940's, the number of rail passengers in the USA has declined sharply as more and more people prefer to travel by automobile and airplane. Railroads now carry less than 1 percent of all US intercity passenger traffic.
In most other countries, passenger trains have not faced such strong competition from other forms of transportation. People in China, India, Japan, Russia, and most European countries still rely heavily on trains for transportation.
Задание 7. Ответьте письменно на вопросы согласно тексту.
1. What is the role of communications for the development of national economy?
2. What is the role of railways in carrying passengers and freight?
ВАРИАНТ 6
Задание 1. Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. All the underground stations are of the same size: 6 meters high, 100 meters long and 18 meters wide.
2. The crew of the plane consists of four people.
3. When we entered the car, we opened the window because it was very stuffy in the compartment.
4.  If you drive fast, you will get to the village in two hours.
5. Railroads use signals and various other means of controlling train movement.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. The train was to arrive at 5 p.m. but it [to detain] because of track repair work.
2. In the compartment passengers usually [to put] their suitcases into a special box under the lower berth.
3. He [to want] to buy a car but first he must learn to drive.
4. The new circular road  [to link] several districts.
5. I [to look for]my passport everywhere but couldn’t find it.
Задание 3.Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. A typical turbo train consists of several coaches with power units located in each of the end cars.
2. From 1960, the developed world’s railroads, pressed hard by highway and air competition, progressed swiftly into a new technological age.
3. In the second half of the century, new technology resulted in a steady reduction in electrification’s initial cost.
4. At present the Moscow Metro handles more than 5 million passengers each day.
5. The engine-driver’s cab is equipped with new signaling devices.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. The railway construction became [easy] and [quick] after the invention of special track-laying machines and other equipment.
2. The bridge crosses the river at its [narrow] point.
3. He gained [large] prize in a lottery.
4. The railroad is one of [important] means of transportation.
5. Crushed stone and gravel are [good] building materials for making ballast.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. The government financed the renewal of signaling equipment of all the railroads.
2. Engineers employ special equipment to make the land for the roadbed smooth and level.
3. In India new trunk route construction continued in the 1990’s.
4. Electric motors will drive the cars in the future.
5. The elimination of track joints reduces the expense of track repair and maintenance considerably.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
RIO REVIVES THE COMMUTER RAIL NETWORK
Rio de Janeiro’s suburban railway network has a long history of deterioration. It could have disappeared entirely by now but for the fact that it was privatized in 1998. SuperVia (the new private owner of the Rio commuter network) began the slow process of reviving railway network.
SuperVia inherited a large number of serious problems. Signaling did not work properly. Only 35 out of a fleet of 180 four-car trains were operational, some of them only barely. The condition of the track was poor, and only 50% of all journeys were completed, such was the frequency of breakdowns. Several accidents that occurred soon after privatization also gave SuperVia a very bad public reputation at the outset, but the company quickly took measures. The worst sections of track were replaced and the others were upgraded. Besides, SuperVia began rebuilding emus1 and this work has increased the number of the working emus to 126 trains, while another 48 emus are currently being restored. All the new and rebuilt emus are air-conditioned, an important design element in the tropical climate of Rio. In addition, 20 km of rails, 50,000 sleepers and 83 switches have been replaced. The system of power supply is being upgraded and all 30 stations are being refurbished. Drainage has also been improved to overcome serious flooding problems, which have halted traffic in the past.
These measures have worked. Reputation of SuperVia is rapidly improving and passengers have begun to come back. In 1998 the network carried just 170,000 passengers a day but in 2003 traffic has reached 300,000 riders a day. The ultimate aim is to increase passenger traffic to 1.4 million customers.
SuperVia’s image has been restored to such extent that the newly elected left-wing state government, opposed in principle to privatization, has admitted that the operator is doing a really good job! 
Notes: 1emu (electric-multiple unit) – электричка
Задание 7. Ответьте письменно на вопросы согласно тексту.
1.What problems did the new owner inherit?
2. What has drainage been improved for?
ВАРИАНТ 7
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы. 

1. We had seats in the first coach of the suburban train.
2. It is so convenient to have your own motor car because you don’t have to rely on the public transport.
3. This train will proceed to its destination with out any stops.
4. He spends all his spare time driving his new car.
5. The engine didn't operate well because of bad fuel.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. In the USA the use of electric energy in transportation [to begin] in 1887.
2. In Britain wooden sleepers [to last] about twenty years, whereas the service life of a wooden sleeper in India [to be] fifteen years.
3. An impact-resistant windscreen [to reduce]the risk of injury to the driver in the case of any accident.
4. In Great Britain a first-class ticket [to cost] 50% more than a second-class ticket.
5. Last year a train fare more than [to double] because of inflation.
Задание 3.Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. Some of the Japanese and European high-speed trains offer a number of luxury services, including beauty shops, gift shops, telephones, and meals served at the passengers' seats.
2. In November 1994, the first Eurostar passenger train departed from London’s Waterloo International Station for the Gare du Nord, Paris.
3. There is a train radio telephone in each driver’s cab and a dispatcher can communicate with the driver in case of emergency.
4. The main advantages of electric locos are high speeds of running and clean operation.
5. For several miles the road runs through a thick forest.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. Although there are now [fast] and [modern] means of transport, railways still remain [safe] and [popular] form of transport.
2. The world’s [long] rail line is situated in Russia.
3. Engineers also build railroad bridges to span some of [deep] valleys.
4. [difficult] task for engineers is to find a proper strip of land for a new railroad line.
5. The diesel traction unit can accelerate a train [rapidly] and operate at [high] speeds with [little] damage to the track.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. Our train departs late in the evening.
2. Lightning struck the old tree.
3. Engineers used the latest scientific technologies to design high-performance track structure and rolling stock.
4. Freight electric locos develop a speed of 300 km/h.
5. The car suddenly stopped in the middle of the road.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
FROM THE HISTORY OF RAILWAYS IN GREAT BRITAIN

The history of railways in Great Britain began in the second part of the 18th century. The first railways were horse-powered and were used for transporting coal, timber and ore. Later on, horse-powered railways appeared in large cities and were used as passenger transport. But they did not last long.

In 1763 James Watt invented the stationary steam engine and George Stephenson was one of the first who put a steam engine on wheels. He made a design of a locomotive but couldn’t build it as he had no money. Some businessmen decided to construct a railway between Stockton and Darlington to see how Stephenson’s locomotive worked. On the day when it was opened, a man on a horse went in front of the engine and shouted that the train was coming. Stephenson, who was running his locomotive, asked the horseman to go away. He put steam on and ran his locomotive at a speed of 12 miles an hour. It was the beginning of steam-powered railways.

In 1829 the Liverpool-Manchester Railway was built, and the railway company offered a prize of £500 for the best steam train. The prize was won by G. Stephenson with his famous train “The Rocket”. This locomotive was faster and stronger than the first one; it could pull 13 tons and achieved an “unheard-of speed” of 29 miles (46 km) an hour.

At first lots people were afraid of the railways. But in 1842 the steam-powered railways were already in wide use in Britain. It should be said (следует сказать) that the gauge was not the same on all the railways.  For many years there were 2 gauges in England: the 7 feet suggested by Brunel and 4 feet 8½ inches, offered by Stephenson. It was inconvenient because where there was a break of gauges, trains were delayed and time was wasted. Angry people wrote to the newspapers and demanded to change the broad gauge.  “The Battle of the Gauges” lasted more than 30 years. Only in 1892 the Great Western Railways was converted to the standard gauge.  
Задание 7. Ответьте письменно на вопросы согласно тексту.
1. What were the first horse-powered railways in Great Britain used for?
2. Who suggested constructing railways with broad gauge?
ВАРИАНТ 8
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. The top speed of the first steam locomotive was13 miles per hour.
2. The profession of an engineer requires special training.
3. In the USA there is a special discount for those passengers who buy return tickets.
4. You will catch the train, if you hurry up.
5. From the very beginning the builders faced many hardships because of severe climatic and difficult geological conditions.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. George M. Pullman not only [to invent] the sleeping car, he also was the first to design and build the restaurant car.
2. The jewel of Japan’s passenger rail system [to be] the high-speed Shinkansen.
3. A new electronic device [to calculate] how far one can drive on the fuel left in the tank.
4. Centralized traffic control [to provide] fast communication of information.
5. Engineers [to employ] special equipment to make the land for the roadbed smooth and level.
Задание 3. Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. The century’s second half was also marked by the creation all over the world of many new commuter rapid-transit rail systems as well as the extension of existing networks.
2. Diesel-electric traction had become more reliable and cheaper to run, though electric traction’s performance characteristics and operating costs were superior.
3. The construction of early bridges without basic knowledge of mathematics resulted in great tragedies because of the bridges’ collapse.
4. Damages due to the computer’s error were assessed at $1,000.
5. A network offers many opportunities for exchanging information.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. This magazine always publishes [full] reports on [late] events on modern science and technology.
2. Continuous welded rails provide [comfortable] riding.
3. Continuous rails are much  [durable], they give to the railroad track a [smooth] riding quality, and they permit the operation of trains at [great] speeds.
4.These boxes are too small for this equipment; we need [big] ones.
5. [bad] sections of track were replaced and the others were upgraded.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. The timetables of these lines show more than 300 trains daily.
2. The wide use of automatic devices increases the safety of train movement.
3. The engineers increased the speed of the new electric locomotive.
4. There was a terrible rush [суматоха] at the station.
5. The text of the contract will be ready in an hour.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
THE FUTURE OF RAILROADS
For more than a century the railroad was the dominant form of land transportation in much of the world. It was and remains the one land carrier that can carry almost anything anywhere, and do it at a cost lower than other types of land or air traffic.
Today, however, other modes of transport have been developed to the point at which they can do certain transportation jobs more effectively than the railroads. Pipelines can carry liquids and some solids over long distances economically. Airplanes, with their great speed, can carry some types of light, valuable freight at a saving. Trucks offer speed and flexibility, especially for short and medium hauls. Private automobiles, running over modern highways, and the airplanes have taken over much
passenger traffic formerly handled by rails. Modern barges, operating on improved inland waterways, can move a lot of commodities over specific routes at very low costs.
Undeniably, these competitors of the railroad can do a better job on some types of transportation tasks. The development of these newer modes has changed the role of the railroad from that of the general-purpose carrier to that of a more specialized carrier.
In looking at the future place of railroads, three other factors should be noted.
1. Railroads disturb the natural environment less than highways or air transport systems. They produce less pollutants than either automobiles or airplanes. These factors have become more significant as society increasingly concerns itself with the need to preserve the environment and to reduce air, water and noise pollution.
2. Railroads are more efficient in the use of fuel than either highway or air transportation. Concern over the best use of these resources forces many countries to place more emphasis on rail transportation.
3. While much public money has gone into technological research on the newer forms of transportation and into constructing facilities for them, in all but a few countries relatively little has been spent to improve railroad technology and infrastructure. Thus, even the most advanced of today’s railroads and services, with very few exceptions, do not represent the best that is possible from the railroad.
Задание 7. Ответьте письменно на вопросы по тексту.
1.Why was the railroad the dominant form of land transportation?
2. What is the advantage of airplanes to the railroads?
ВАРИАНТ 9
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. We got off the train and asked the porter to carry our luggage to the bus stop.
2. The government promised to fund inter-city passenger service.
3. The shuttle-train  covers the distance from London to Paris in three hours forty minutes.
4. Robots will substitute people in some monotonous operations soon.
5. Some Canadian intercity trains also provide luxury service.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. A dispatcher [to control]a train movement over a definite section of track.
2. The railway station [to be] an hour’s drive from my house.
3. The new automated control system [to eliminate] all types of accidents which can be caused by the driver’s error.
4. The first steam locomotives were not strong and they often [to break down].
5. Engineers often [to design] railroad bridges and tunnels along the route.
Задание 3.Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. Even the most advanced of today’s railroads and services, with very few exceptions, do not represent the best that is possible from the railroad.
2. Radio facilitates communication with the remotest parts of the country.
3. One of the mankind’s greatest inventions of the 18th century was the steam engine.
4. Modern transportation facilities link all parts of Japan and provide the swift, efficient movement of people and goods.
5. After an hour’s break we resumed our work.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени. 
1. Only ships carry [heavy] cargoes for [long] distances; and only airplanes provide a [fast] means of public transportation than railroads do.
2. [long] rail line extends for more than 9,000 km.
3. Railway transport is still one of the [cheap] ways of hauling freight over long distances.
4. Railroads disturb the natural environment [little] than highways or air transport systems.
5. This car was much [simple] in design than the sleeping cars of today but it was so much [suitable] for long-distance travel than any other kind of car in use at that time.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. The train arrived at the station according to the schedule.
2. This article is about a new high-speed railway.
3. Steep grades limit both the speeds of trains and the loads carried.
4. All the students listened to the lecturer with great attention.
5. The applience of automatic block signaling makes human errors practically impossible.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
MOSCOW UNDERGROUND
For the first time the idea of building the underground railway in Moscow was discussed before the revolution. But the construction of the first section (from Sokolniki to Central Park) was initiated only in 1932. The length of this line was 11 kilometers. The construction lasted 3 years and it was called the record period of time by the world press. The Russian engineers carefully studied the existing underground systems abroad before working out their own project, which represents a significant improvement on the London system.
The engineering difficulties were great mainly because much of the soil was composed of running sand1. Fortunately most of the running sand lay close to the surface, therefore it was found possible to use out-and-cover method of construction under many streets. But in the center of the city where the line is 100 ft or more deep, the construction of tunnels was necessary.
The Moscow Underground consists of a circle line, which runs round the city center, several radial lines crossing the city and connecting with each other and the lines running to the countryside.
Some constructional work is still going on. Now the length of the underground lines reaches about 300 km.
At present the Moscow Metro handles more than 5 million passengers each day. During peak hours trains run at a speed of 90 km per hour with the intervals of about 80 seconds. One train takes up to 1,500 passengers. For greater safety of travel all trains are inspected every 6-9 hours of running. Being in operation for about 13 hours daily each metro train covers the distance equal to that from Moscow to St.Petersburg. The trains servicing the Underground are supplied with low voltage direct current. The current is obtained from the third rail by special devices that are mounted beneath the motor coaches. Rolling stock is completely replaced approximately once every four years.
The Moscow Metro can compete with the underground railways in any of the European capitals in level of automation. At present experiments are being conducted with an “automatic driver”, i.e. with computer-controlled trains. The computer devices will help to relieve the nervous strain on the drivers and make it possible to increase the cruising speed2 of trains even more. These automatic devices have already been tested over the Circle Route by way of experiment. The Moscow Metro is justly famous for clean and attractive stations and for good service of riders at rather low fares.
Notes: 1running sand – сыпучий песок, плывун
2cruising speed – эксплуатационная скорость
Задание 7. Ответьте письменно на вопросы по тексту.
1. How many kilometers is the length of the underground lines?
2. What is the aim of the automatic devices installed in trains?
ВАРИАНТ 10
Задание 1. Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в действительном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. Modern machinery enables a small group of workers to maintain a relatively long stretch of railroad track.
2. The new circular road  will link several districts.
3. No automatic system operates without electricity.
4. They got stuck in a traffic jam on the way to the airport.
5. Russia ranks second in the world, after the USA, in the length of the railway network.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite).
1. Such engineers as P.K. Frolov, A.S. Yartsev, and I.I. Polsunov [to make] great contribution to the development of railway transport in Russia.
2. If you don’t hurry, you [to miss] the last commuter train.
3. Safe operation of freight and passenger trains [to require] a system of signaling.
4. Trains entering stations automatically [to set] the points system according to classification.
5. The introduction of a better technology [to save] both time and labor.
Задание 3.Перепишите и переведите предложения, обращая внимание на употребление окончания -s.
1. Melnikov's report about the results of their trip laid down the basis of the future railway project.
2. Rio de Janeiro’s suburban railway network has a long history of deterioration.
3. The Railway International Journal publishes a lot of articles about the construction of high-speed railways all over the world.
4. All the necessary data of train operation – distance, time of covering each section of the route, speed limits, etc. are programmed and fed into the computer’s memory.
5. I work for a construction company which has a lot of contracts in other countries.
Задание 4.Перепишите и переведите предложения, употребив прилагательные, данные в скобках, в сравнительной или превосходной степени.
1. [good] way to lose weight is to avoid eating fatty food.
2. Diesel-electric traction had become [reliable] and [cheap] to run, though electric traction’s performance characteristics and operating costs were superior.
3. The underground railway is [quick], [safe], [reliable] and comfortable means of city transport.
4. A jet engine is [powerful] engine because the gases in it reach the temperature of over a thousand degrees.
5. You need not go to the railway station to buy tickets because you can book them at [near] travel agency.
Задание 5.Перепишите предложения. Задайте общие вопросы и специальные вопросы к подчеркнутым словам.
1. The Cherepanovs constructed the first steam locomotive in Russia.
2. Many railroads use advanced communication systems to help control the movement of trains.
3. Your train will leave from platform №2 in five minutes.
4. The first automobiles appeared on the roads at the end of the 19th century.
5. There are four pairs of sliding doors on each side of a Metro car.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
DEVELOPMENT OF DIGITAL TECHNOLOGIES FOR RUSSIAN RAILWAYS
In Russia, railways account for more than 45 per cent of the national cargo turnover and over 25 per cent of the passenger turnover and consequently remain the most important mode of transportation in the country. In the context of  a highly competitive transportation market, the sustainable development of this significant sector of the transportation industry is largely dependent on the drive to develop and implement innovative technologies.
One of the most important tasks in the Russian Railways’ 2020 programme for innovative development is the implementation of the Digital Railway integrated project.
The key prerequisite for the construction of a digital railway is the fullest possible integration of information and communication technologies (ICTs) that connect the user, vehicle, train control system and infrastructure.  From this perspective, of particular interest are the technological innovations in railway infrastructure maintenance and railway traffic management and safety.
The Intelligent Rail Management System (ISUZHT) is being phased in on the Russian Railways network. After 2020 this system is expected to replace the miscellaneous automated systems that are still operated by various divisions and units of the company. 
The ISUZHT platform is an integrator of automated transportation process control systems employed by the Russian Railways. It is based on the principles of integration and the intelligent processing of all primary information regarding the status of the transportation process. This includes the status of signalling systems; speed and weight of trains; location of locomotives, trains and wagons; presence of speed limits in line sections; and the technical condition of rolling stock, automation equipment, etc
The purpose of ISUZHT is to substitute the intelligence of dispatchers with computer intelligence using methods of machine learning and artificial intelligence.
Задание 7. Ответьте письменно на вопросы по тексту.
1. What should  information and communication technologies in the construction of a digital railway connect?
2. When is the Intelligent Rail Management System planned  to replace the automated systems?
КОНТРОЛЬНАЯ РАБОТА №2 (3 курс)
ВАРИАНТ 1
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. All first carriages had three essential drawbacks: they were built of wood; they were heated by stoves, and they had an open platform at each end that was especially dangerous in the case of an accident.
2. The air in the London Underground is changed every quarter of an hour and the temperature is maintained at 69-79 degrees Fahrenheit all year round.
3. The invention of the steam engine aroused great interest; it was much spoken and written about.
4. All wagons are fitted with automatic coupling.
5. Most specialists consider that the trains of the future will be operated by automatic drivers.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. Before 1947 the British Railways [to own] by four private companies.
2. The trip by high-speed ferry from Helsinki to Tallinn [to last] an hour and a half, even faster  than by plane.
3. Electrical equipment [to produce] in France next year. 
4. The windows of his car [to make] of unbreakable glass.
5. The replacement of the old engine  evidently [to take] two hours.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. In some trains of high comfort passengers can order dinner or supper directly to his compartment.
2. The accident was my fault so I had to pay for the damage to the other car.
3.Automatic train operation needs no signalmen.
4. To improve signal operation railwaymen should use the most efficient techniques.
5. In metro driverless operation may help to save labour costs (расходы на зарплату).
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид.
1. The road joining the two villages is very narrow.
2. The first steam locomotive built by G. Stephenson could draw a small train of loaded cars at a speed of 13 miles per hour.
3. Driving a car in the rush hours, you must be very attentive because traffic is very heavy.
4. Having built the world’s first electric locomotive, Werner von Siemens demonstrated it at the Berlin Exhibition.
5. When reconstructed, the railway bridge will be used for the movement of heavy freight trains.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. We spent an hour or two, [to talk] to our friends.
2. [to build] the dam, they protected the village against flood.
3. One day people will be able to communicate by videophones [to install] in every flat.
4. In 1786, William Murdock, an English engineer, constructed a [to work] model of a small steam locomotive.
5. The engine [to invent] by Rudolf Diesel is one of the greatest inventions of the 20th century.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
BASIC PRINCIPLES OF RAILWAY SIGNALING
No department of railways has been more developed by modern technology than signaling and telecommunications. Color light signals, electrical operation of signals and points, track-circuiting, route-setting panel control, automatic train operation, computer-based centralized traffic control (CTC) – these are the basic elements of up-to-date signaling.
The method of operating long railway lines by CTC began in the USA in 1927. The principle is that at the central point the operator has a diagram showing him where every train is and he can control the whole section of the line – possibly of two or three hundred miles – from his control console. The operator can see and control the overall track circuit. On modern railways the main line and station approaches are controlled from a single control center to provide regular traffic and avoid delays.
To control a whole trunk line from one place a single control centre was first introduced in Japan, on the New Tokaido Line. The entire line between Tokyo and Osaka is wholly controlled from the general control center located in Tokyo. It’s well-known that conventional CTC uses conventional relays. Practical railway experience shows that it takes much time to transmit information therefore the Japanese National Railways have developed a new system using transistors and diodes. This system proves to be more reliable; besides that it is more economical because it helps to save time: it takes about one second to scan indications for all tracks.
At present up-to-date electronic equipment including a digital computer is widely used to automate train operation and to improve the quality of railway service.
Задание 7. Ответьте письменно на вопросы по тексту.
1. What country was the first to use CTC on its railways?
2. Why is CTC so important for railways?
ВАРИАНТ 2
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. The engine-driver’s cab is equipped with new signaling devices.
2. Several cities will be linked by this railway line.
3. The new project was given much attention by all the newspapers.
4. Concrete sleepers last long because this material is not subjected to corrosion.
5. The car was badly damaged in the accident and was taken to repair shop.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. This powerful machine[to operate] by one person.
2. Steam locomotives [to require] extensive servicing after only a few hours’ operation.
3. The first Stephenson’s locomotive [to call] “The Rocket”.
4. If you drive fast, you [to get] to the village in two hours.
5. Last year many valuable minerals [to discover] by geologists in the North.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. Drivers of express and fast trains must have a rest after 3 hours of work.
2. You should not ride a motorbike without a helmet.
3. You need not hurry up; you may take a later suburban train.
4. What can you do while traveling by train? You can read a novel or do a crossword puzzle, you can just stare out of the window or talk to your fellow-traveler, you can sit back and listen to the clicking of the carriage over the rails.
5. Here all the workers are to wear protective clothing.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. During the test run the steam locomotive produced by Peter Cooper raced against a coach pulled by a horse.
2. Having arrived two days before the conference, he had a lot of time to see London.
3. Chinese Railways lifted the maximum speed of passenger services to 140 km/h on seven key routes radiating from Beijing (Пекин).
4. The trains equipped with robot engine drivers operate on some underground lines.
5. In 1840 the USA had 2,800 miles of railroad tracks consisting mainly of short lines.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. The journey from London to Norwich (184 km) takes exactly two hours, [to include] stops.
2.[to see] the green light, we crossed the street.
3. More [to use] as a transportation system in industry than in cities, a monorail is a type of electric railway train that runs either above or below a single track.
4. The plant [to produce] automobiles was built in our city 50 years ago.
5. Cascade Tunnel is one of the longest railroad tunnels in the USA [to locate] in central Washington was built in 1925-29 to replace shorter, more winding tunnel.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
BUILDING THE RAILROAD
Before a railroad is built there are usually several alternative routes to be considered. Maps, aerial photographs, and profiles1 showing the features of each route are prepared and carefully studied. Experts then choose what they consider to be the best route. The choice they make has much to do with the success or failure of the new railroad line. One route may be fairly level, requiring only a few cuts through hills and fills through valleys. Such a route, however, may require a long tunnel to get through an intervening mountain or several expensive bridges to get over rivers. This would make it more costly in the end than one with moderate cuts and fills all the way. Another route, though less expensive to build, may run through unsettled country. Hence it may be wiser to build the more expensive line for the sake of the greater local business it can get.
The selected route is then surveyed carefully, and building commences. Sometimes work parties begin at each end and build toward the middle, as was the case with the transcontinental railroad in the United States. The constructed sections of track carry trains with supplies for the construction workers. Today parties can be stationed at various points and receive supplies from other railroads already built nearby. This method gets the road finished and earning money much more quickly.
The first step is the preparation of the roadbed2. Following the stakes3 and plans set up by the surveyors, the working parties clear away trees, make cuts and fills, and otherwise prepare the way. Other workers set up bridges and dig tunnels. As fast as the roadbed is ready, crossties and rails are laid, either by hand or by machines. Working on level ground, tracklayers can complete several miles in a day. Finally, the track must be ballasted, preferably with gravel, cinders4, or broken stone.
In the United States the usual practice was to build a single-track line with as few tunnels, bridges, and expensive cuts and fills as possible. Then the track was doubled, first at portions where most trains passed and finally over the entire route, and thus the railroad grew into a first-class line. This method was largely responsible for the development of great railroads in the United States. Companies built roads through the open frontier. Soon communities5 appeared along the lines, and new businesses were started. These enabled the railroads to prosper. While track undergoes constant maintenance and improvement, there has been very little new construction in the United States in recent years, and it is estimated that the existing track system could carry 25 percent more traffic. In some areas, new communications and train control systems have allowed the elimination of double tracks in favor of single-track operations.
Notes: 1profile – чертёж ж/д пути в вертикальном разрезе
2roadbed – земляное полотно
3stake – опорный столбик, веха
4cinder – шлак
5community – населённый пункт
Задание 7. Ответьте письменно на вопросы по тексту.
1. What is the preparatory work of building the railroad?
2. What enabled the railroads in the United States to prosper?
ВАРИАНТ 3
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. The St.Petersburg–Moscow mainline is considered to be the oldest and the most outstanding railway in Russia.
2. Mechanical operation of points and signals was replaced by electrical control.
3. Wayside signals installed along railroad tracks are called fixed signals.
4. New track machines bought from Great Britain by Mozambique will be used for upgrading the Limpopo line in that country.
5. All the passengers were invited to get the train on and take their seats.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. You [to catch]the train, if you [to hurry] up.
2. Steel rails [to use] in the USA for the first time in 1863.
3. Express trains [to stop] only at large stations on their way.
4. A.S. Yartsev [to suggest] using cast iron rails instead of wooden ones in 1788.
5. The frequency of electric current[to be] 50 Hz in Europe and 60 Hz in the USA.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. You will have to change trains in Moscow because there is no direct train to Minsk.
2. The train couldn't depart from the station, as the line was busy.
3. Passengers should keep their tickets till the end of the trip.
4. The dispatcher can communicate with the loco driver over long distances by a radiotelephone.
5. Steel which is used for the production of rails must be of high quality.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. While unloading the car we found a few broken boxes.
2. Refrigerator cars are used for the transportation of frozen meat and other perishable commodities.
3. The leading role of the railway transport in Russia is explained by the specific territorial, climatic and geographical conditions.
4. Signals installed at frequent intervals along the whole mainline inform the engine drivers of the position of other trains.
5. Having put our things on the rack, we decided to have a snack.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. Computers [to link] to TV, telephone and satellite networks spread information throughout the world.
2. [to spend] all the money he started looking for work.
3. The workers were moving from car to car, carefully [to inspect] them.
4. Kerosene is a fuel [to use] in jet engines.
5. The bright flowers [to grow] along the railroad track attracted the attention of all the passengers.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
BASIC RAILWAY SIGNALS
Safe operation of freight and passenger trains requires a system of signaling. To inform the locomotive and train crew of the position of other trains in relation to their own, signals installed at frequent intervals give indications which are visible both by day and by night. Wayside signals installed along railroad tracks are called fixed signals.
The semaphore is considered to be the earliest type of the signal. The relative position of the semaphore arm constituted the signal.
To indicate “stop” a horizontal arm was used. “Proceed” was indicated by vertical arm. To give restrictive indications the arm was inclined¹ up or down.
Color lights give the indications at night. The semaphore mechanism is equipped with lenses illuminated by a lamp, so that a red light shows when the semaphore is in the ‘stop’ position, a green light – when the semaphore is in the ‘proceed’ position, and a yellow light – when the semaphore is in the restrictive position.
The color-light signal sometimes used is known to have semaphore arm and give both day and night indications by means of red, green and yellow lights. We know some signals to be operated by hand, others to be automatic.
On some railroads locomotives are known to be equipped with apparatus located in the cab, which gives a continuous indication² to the engineman identical with that shown by wayside signals.
By cab signals the engine crew is supposed to be always informed of conditions ahead regardless of the weather which could prevent the driver from seeing wayside signals. Locomotive cab signals are equipped to give audible warnings whenever the aspect changes to one more restrictive position. A protective device is installed on some railroads to apply the brakes automatically and bring a train to a stop if, for any reason, a “stop” signal is passed. It is called automatic train control. The earliest signals were hand-operated, usually by station employees.
Notes: 1to incline – наклоняться
2 continuous indication – непрерывная выдача показаний.
Задание 7. Ответьте письменно на вопросы по тексту.
1. What does a yellow light on the  semaphore mean?
2. What is the aim of cab signals?
ВАРИАНТ 4
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. Wood  was replaced by steel as a material for constructing passenger cars.
2. A lot of roads in the USA were built by private companies and are paid to use; they are called toll [платный] roads.
3. Box cars are used for transporting loads which require protection from the weather.
4. After the reconstruction of the railway, the speed of trains will be increased and carrying capacity of the line will be raised.
5. Nowadays electricity is used for lighting and heating of passenger coaches.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. The relay [to energize] when the track [not to occupy] by a train.
2. Heavy snowstorms [to disorganize] the movement of trains in this region.
3. Owing to the new project, the railway [to extend] as far as the seaport.
4. Such materials as reinforced concrete [железобетон] and steel [to use] widely for the construction of modern bridges.
5. The first escalator [to install] in the London Underground in 1911.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. The car in front of him stopped so suddenly that he was not able to brake and smashed into it.
2. The operator can see and control the overall track circuit.
3. The cars may be parked here after 5 p.m.
4. Everybody knows that the word “CAUTION” on the back of a TV set means that you must be particularly careful with this apparatus.
5. In Metro when the passengers get on the escalator, they should stand on the right so that people who hurry can run by on the left.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. Having missed the 10 o’clock train, he had to send a telegram to his friends waiting for him.
2. The first Siemens’s electric locomotive built in 1879 was so small that the driver straddled it like a horse but it could haul a train with 30 passengers.
3. Using modern technology we will increase service life of our equipment.
4. Passing the curve high speed train need not decrease its speed.
5. The plane had to make a forced landing.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. Don’t forget to oil the [to move] parts of the machine regularly.
2. The TV set [to buy] a few days ago has broken down.
3. The number of cars [to form] a passenger train is much less than that of a freight train.
4. This engine radically differs both in construction and operation from the engine [to develop] five years ago.
5. [to pack] our suitcases, we hired a taxi and hurried to the airport.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
THE EARLY TRACK 
Off all the various materials which are used for ballast broken ballast or broken granite are the most suitable. These materials are however costly. Recently a very effective and much cheaper substitute has been found in blast furnace slag.
In the early days the ballast to be laid on the track was first taken to the site in ordinary wagons and unloaded into heaps spaced at suitable intervals beside the track.
Gangs of platelayers armed with shovels then spread the ballast over the track, tucking it under the sleepers until a firm foundation was made. In these days ballast trains are employed. They consist of wagons that can discharge the loose stone directly on to the track through the floors of the wagons. As the engine draws the ballast train slowly forward, a plough like a snow plough, which is fixed in front of the brake van, spreads the ballast thus discharged from the wagons. The platelayers then finish the operation.
The early railway builders laid wooden stringers lengthwise, fastening straps of iron on top of the stringers to serve as rails. The practice of laying wooden stringers soon gave way to iron rails which did not prove satisfactory, as they were subject to buckling and warping and wore out rapidly. Steel rails were first rolled in England in 1856. From that date they rapidly became the standard type.
In England and in the USA rails vary in weight from 50 to 152 pounds per running yard, the average being about 94 pounds per yard. Increasing size of locomotives and trains and greater speed of train movement in both freight and passenger services have made necessary an increasing of rail weights. The standard length of a single rail in America is 39 feet, 60 foot rail is common in Europe. The use of longer rail is advantageous in maintenance work.
Задание 7. Ответьте письменно на вопросы по тексту.
1. What machines are employed for laying ballast now?
2. When was steel rails first rolled in England?
ВАРИАНТ 5
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. The switch [стрелочный перевод] is the mechanism which is used to move the trains from one track to another.
2. The incandescent lamp was invented by Thomas Edison.
3. Steel sleepers are particularly valued in desert and tropical regions because great variations in day and night temperatures do not affect them.
4. A large range of devices will be integrated by the new system.
5. My first impressions of England are connected with rain and fog.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. The high-speed train running between Hiroshima and Kokura [to enter] in the Guinness Book of Records for the highest average speed – 261.8 km/h.
2. Railway carriages that [to serve] as restaurants [to call]dining cars.
3. The first bus developed by Shillibear [to appear] in London in 1861.
4. A new bridge [to build] in our city next year.
5. New plastic and synthetic materials widely [to use] for the interior and exterior finishes of carriages.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. I’m sure you will agree with me that nowadays everybody can benefit from the revolution in information technology.
2. The company must appraise the performance of their employees once a month.
3. They both spoke simultaneously, that’s why I wasn’t able to understand a word.
4. The building should be completed on schedule.
5. There are waiting rooms at all railway stations where passengers may rest until it is time to board  the train.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. The total number of passengers carried by the Underground each year is enormous.
2. The number and the spacing of the sleepers depend on the weight of trains passing over the track. 
3. The first Metro trains were driven by steam locomotives which burnt coal, filling the tunnels with smoke.
4. I’m not sure that it is possible to repair this badly damaged car.
5. Having measured the distance between two points, we can calculate the time a car can cover it, if we know the car’s average speed.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. A lot of scientists [to invite] to the conference refused to take part in it.
2. [to leave] our suitcases in the Left-Luggage Room we went to have a snack.
3. People [to live] near railroad tracks often get so used to the sounds of [to pass] trains that they rarely notice the noise, but their visiting friends can be quite distracted by it.
4. The mechanic said that he had replaced the [to break] part of the engine.
5. When [to cross] the street, be careful at the crossroads.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
TRACK AND BALLAST. RAILS
One modern development in the upkeep of the permanent way is the use of welding processes. Most railway travelers are fairly familiar with the crossings or forks of the permanent way where one track diverges from another. These rail crossings wear away fairly rapidly. They are costly to make and also to maintain. In order to reduce the expense in: maintaining these joints and crossings, welding processes are now being used, so that new metal can be welded on to the worn parts of the crossings ill such a way as to build up the rails to their original form.
The two rails of a track produce a most economical path for the smooth passage of heavily loaded vehicles at great speed. Sleepers or ties hold the two rails at the exact distance or gauge throughout and transfer the loads from the rails to the ballast.
The ballast provides a resilient bed, keeps the sleepers in the correct position and at the correct level, distributes the load from the sleepers to a large area on the roadbed or formation of the track and drains off rainwater. The rails are fixed to the sleepers with various types of fittings that depend on the type of the rail used and on some other considerations. The rails, which are manufactured in standard length, are joined together with fishplates or joint-bars through which track bolts are threaded.
The combination of rails, sleepers, fittings, ballast is known as the track or permanent way. In some countries, temporary tracks were laid for conveyance of earth for building up the formation (a subgrade) of a railway, and permanent way was so called to distinguish the final layout from these temporary tracks.
Задание 7. Ответьте письменно на вопросы по тексту.
1. Why are welding processes being used?
2. How are the rails fixed to the sleepers?
ВАРИАНТ 6
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. Various services are proposed for passengers in high-class trains such as interurban telephone calls, branch press, medicare sets, food and security.
2. This new train develops a very high speed since it is equipped with powerful engines.
3. The first escalator was also installed in the London Underground in 1911.
4. Some forms of transportation will be integrated into multimodal organizations, both public and private, in order to move people and goods with a minimum of cost, inconvenience, and delay.
5. Heavy loads are usually transported by freight trains.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. The plant [to produce] a new model of the car next year.
2. Telegraph cables usually [to lay] under the ground.
3. On the first railways sleepers[to lay down] along a railroad track; nowadays sleepers[to lay down] transversely.
4. A dispatcher [to control] train movement over a definite section of the track.
5. Nowadays train operation on busy sections of trunk lines [to control]  from a single control center.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. On this dangerous section trains must comply with the permissible speed.
2. The brakes can be activated by this device.
3.  Passengers were not allowed to get off the carriage because the stop of the train lasted only three minutes.
4. They had to leave yesterday because there were no tickets available for today’s train.
5. He should not sign the contract without reading it thoroughly.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. When heated by sun, the rails become longer.
2. Having taken the wrong bus, Tony found himself in an unfamiliar town.
3. People living near airports suffer from the noise of taking off and landing jet airliners.
4. The first steam engine invented by James Watt was installed in a machine at a large mine to pump out the water.
5. Each railway station has at least two tracks, those for the incoming and outcoming trains.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. [to complete] their tests students handed them in.
2. The Disneyland train [to call] “The Excursion” was built especially for carrying visitors through the Grand Canyon Diorama.
3. The [to destroy]bridge was soon reconstructed.
4. They spent the whole day, [to pack] the equipment.
5. They experimented with the device, not [to know]that it was out of order.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
MODERN RUSSIAN RAILWAYS
Russian Railways occupy an outstanding position as the country’s biggest freight and passenger carrier. They account for 42.3% of freight turnover and for over 32.7% of passenger traffic. They carry over 1 billion tons of freight and about 1 billion passengers annually. The share of railways in the country’s total turnover exceeds 75%. RZD operates powerful electric and diesel-electric locomotives, high capacity freight cars and modern coaches. The RZD Rolling Stock and Locomotive Department maintains 1,026,600 freight cars and over 20,000 locomotives, including diesel and electric road engines and shunting locomotives. To increase the safety of  traffic and comfort for passengers, trains are fitted with automatic car couplers and air brakes, while coaches are equipped with modern air-conditioning systems. 
Railways operate national and international freight services for all types of goods – from grain, coal, iron ore, cement and oil products to new automobiles, tools and hi-tech devices. They operate specialized box, flat, open and tank cars. One of the RZD main strategic goals is to achieve a total integration into the Eurasian infrastructure: to expand the east-west transport corridor across the continent and to give operators the benefits of door-to-door delivery of Intermodal freight. 
In June 2008, RZD signed the “Strategy of Developing Rail Transport to 2030”. One of its key tasks is the development of fast (up to 160 km/h) and high-speed (up 350 km/h) passenger traffic. According to the plan, the length of fast and high-speed tracks will grow almost 17 times – from 650 to 10,887 km! High-speed lines will link Moscow with St Petersburg, Nizhny Novgorod and Smolensk. They will be introduced in the Far East, Siberia, southern regions and on the Volga. The use of bullet trains will demand massive renovation of rail infrastructure and technical services, installation of global centralized traffic control (CTC) and production of sophisticated rolling stock. Although the program will require huge investments, the use of high-speed trains will reduce the demand for rolling stock and promote the development of scientific research and world-class technology in Russia. 
Задание 7. Ответьте письменно на вопросы по тексту.
1. How many passengers and tons of freight do railways carry every year?
2. What does the introduction of high-speed traffic demand?
ВАРИАНТ 7
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. In Europe double-deck passenger coaches are used in four- or five-car sets on suburban lines where traffic is very heavy.
2. This train is equipped with plush comfortable seats of an aircraft type and the time of its departure is very convenient for passengers.
3. This terminal was put into operation last year.
4. Each one of your suitcases will be checked when you go through the customs.
5. Fences and other devices are built for protecting the tracks against snow and for keeping the livestock away from the railway.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. Railway transport [to be] one of the cheapest ways of carrying freight over long distances.
2. Electric motors [to drive] the cars in the future.
3. People [to build] viaducts in order to cross gorges, canyons and ravines.
4. In Spain first class train passengers [to provide] with free newspapers and at-seat meals.
5. The first steam locomotive in Russia [to test]in Nizhniy Tagil.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. We were to leave for England on Saturday but because of the delay with our visas, we had to book tickets for Monday.
2. Both direct and alternative current may be used on electrified railways.
3. This equipment should be carried in a box car for it requires protection against the weather.
4. New up-to-date ATC(automatic train control) facilities must be installed, and their design, manufacture and installation require great expenses.
5. The Trans-European expresses are equipped with interurban telephones through which the traveler can contact office or home.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. The things left behind by passengers are usually taken to the Lost Property Office.
2. All trains operating on the suburban lines are driven by electricity.
3. The motor coaches are supplied with electric motors placed under the floor of the coach.
4. Having left our luggage in the left-luggage room, we decided to walk along the city.
5. It is impossible quickly to stop the train moving at such a high speed.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1.CAV – is a British firm [to produce] diesel engines.
2. The diesel-electric locomotive has an internal combustion engine [to link] to the driving wheels by electric transmission.
3. [to receive] the telegram she immediately left for Glasgow.
4. If [to leave] alone, the dog could spoil many things at home.
5. [to wait] for the train arrival, I looked through the magazines [to lie] on the table.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
USING OF RAILWAY SIGNALS
Railway signals may be classified as visual or audible. Most signals are visual, but audible signals are important in limited applications. Visual signals are principally light signals and wayside signs. The locomotive whistle can be named as an example of the audible signals. 
A second important classification is as fixed or movable signals. A fixed signal is anchored in the ground, and its position does not change. Hand and lamp signals are movable, as are locomotive and train signals. Temporary signals, though portable, are considered as fixed signals. Locomotive cab signals are a special case; they are usually treated as fixed signals, but of course are generally in motion. They are used both as supplements to wayside signals, and as an independent signal system without wayside signals. Locomotives in Russia are equipped with headlights, which are illuminated by night but not by day (in the U.S. they are illuminated day and night). 
A third classification is as day, night or 24-hour signals. Light signals are an example of the 24-hour signals, while flag and lantern signals are used by day or night.
Signals are classified as to function as follows: entrance signals govern the admission of a train to a station; exit signals govern the exit of a train from the station to a block section; intermediate signals govern the motion of trains within a station; block signals govern the admission of a train to a block section, usually automatic block sections; covering signals protect crossings with other railways, tramways, and trolleybus lines, movable bridges and electrical conductors; prohibiting signals, protect points of danger at level crossings, large engineering works and unstable areas, and barrier signals at structures for the inspection and repair of rolling stock in stations. 
On double- and multiple-track sections, signs marking station limits are used, which may be found on both sides. On double-track lines, station limit signs are placed opposite the entrance and exit signals beside the other track. On single track, the entrance and exit signals mark the station limits. There is an important distinction between tracks in stations and tracks between stations in Russian signalling.
Задание 7. Ответьте письменно на вопросы по тексту.
1. What signal can be called “a fixed signal”?
2. What must intermediate signals govern?
ВАРИАНТ 8
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. In big ports ships are loaded and unloaded by means of powerful cranes.
2. He was invited to the conference but he didn't accept the invitation.
3. Thanks to new cars with greater capacity the freight turnover will be increased.
4. The whole line in Japan, for example, is directly controlled from Tokyo and for this purpose is divided into four systems.
5. For greater safety of travel all trains in the Moscow Metro are inspected every 6-9 hours of running.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. Special railroads such as funiculars [to use] on steep grades in the Alps.
2. At peak hours the Metro trains [to run] with small intervals.
3. The first passenger cars [to light] with candles; later candles [to replace] by oil and gas lamps.
4. Hundreds of jobs [to create] after the building of this plant.
5. For the passengers’ convenience the compartments of a sleeping car [to equip] with mirrored sliding doors, loudspeakers, collapsible tables, ceiling lamps and wall lamps.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. If you are traveling by air, you mustn’t carry anything in your luggage that can be used as a weapon, such as a knife or a pair of scissors.
2. You need not go to the railway station to buy tickets because you can book them at the nearest travel agency.
3. The train was to arrive at 5 p.m. but it detained because of track repair work.
4. Can you imagine our life without modern technologies, such as the Internet or mobile phones?
5. The tickets should not be thrown away as inspectors may check them during the trip.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. Passengers leaving for London were invited to register and weigh their luggage.
2. The volume of passenger transportation is increased in summertime because many people spend their holidays, traveling all over the country or abroad.
3. The new materials recommended for bridge construction were described in the article written by our professor.
4. Before opened for traffic, the railway lines are carefully inspected and tested.
5. The traffic police took drastic measures against drivers breaking the traffic safety rules.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. The [to receive] information was not correct. 
2. Freight trains [to consist] of more than 80 cars are hauled by two locomotives.
3. In Japan the communication between some islands is provided through underwater tubes [to lay down] on the sea bottom.
4. You can find the telephone number of a specialist [to repair] computers in any newspaper.
5. [to build] the world’s first electric locomotive, Werner von Siemens demonstrated it at the Berlin Exhibition.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
RAILROAD TRACK
The railroad is one of the most important means of transportation. Every day, thousands of trains speed along railroad tracks all over the world.
Railroads use a two-railed track to guide trains along a permanent route. Powerful diesel-electric or electric locomotives move most trains along the track.
In most countries, the central government owns all or most of the railroad lines. A state agency or a government-owned corporation operates the railroads, supports them and controls their construction, repair and maintenance.
Over the years, railroads have been facing ever-increasing competition from other types of transportation. Nevertheless, railroads have always been and still remain the most important and universal mode of transport.
A railroad consists basically of a track along which locomotives pull trains of cars. The track is made up of two steel rails fastened to a series of wooden or concrete crossties. The rails and crossties that make up a railway track are laid along a roadbed – a land that has been prepared as a foundation for the track. The roadbed follows the route planned for a railroad. Main-line routes link major cities; branch lines extend between main lines and various places not served by main lines.
A lot of main lines consist of two or more tracks laid side by side. Such multiple-track allows trains to travel in opposite directions on the same line at the same time. Single-track lines must be equipped with sidings at various points along the route. A siding is a short track alongside a main or branch line to which one of two meeting trains is switched until the other train passes.
The track and roadbed, together with such other railway structures as tunnels and bridges are called the roadway. In addition to the roadway, railways own a certain amount of land on both sides of the roadway. This land and the roadway make up a railroad's right-of-way.
Задание 7. Ответьте письменно на вопросы по тексту.
1. Who controls most railroad lines in many countries?
2. What are the advantages of multiple-track lines?
ВАРИАНТ 9
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. Locomotive cab signals are equipped to give audible warnings whenever the aspect changes to one more restrictive position.
2. Signaling is used to control and regulate the movement of trains.
3. When the new CTC is completed it will be used to control the entire trunk line.
4. The problem of how to stop long trains quickly, smoothly, and safely was not solved until the invention of the air brake by George Westinghouse in 1869.
5. In some European countries tank wagons made of reinforced [армированный] plastics are used for carrying wine and fruit juices.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. In the past, messages from Europe to America [to send] by ships.
2. This powerful machine[to operate] by one person.
3. Which platform the train to Paris [to leave] for?
4. According to the terms of the contract the equipment [to pay] for on delivery.
5. Heathrow, Britain’s largest international airport, [to link] with the capital by the Underground railway.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. Passengers should not walk across the railway lines; there is a footbridge at the end of the platform.
2. He can’t leave the country until the police return his passport.
3. You must not take responsibility for this job because you are not as experienced as your colleague.
4. The double-track railways are more convenient than single-track railways because the trains need not wait for the other trains to pass.
5. The system is so sensitive that it can detect changes in temperature as small as 0.003 degrees.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. Tank cars transporting gas or cement should be made of aluminum or stainless steel.
2. If compared with electric locomotives, diesel locomotives have a higher maintenance cost.
3. When constructing the railway, it is cheaper to use local materials.
4. The construction of the first subway system, called the Metropolitan Railway, began in London in 1860.
5. Having built the dam, they protected the village against flood.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. A new road [to connect] the plant with the railway station is being built now.
2. Special signals [to install] along the railroads help enginemen drive trains without accidents.
3. At the stop we saw a lot of people [to wait] for the bus.
4. This unusual locomotive was sent to Russia for the transportation of freight on sledges across [to freeze] lakes.
5. [to spend] all the money he started looking for work.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
PASSENGER SERVICE
Railways provide passenger and freight services. The two main types of passenger trains are commuter trains and intercity trains. Commuter trains carry passengers between large cities and suburbs. Most of these trains are equipped with coaches, which provide from 50 to 90 seats for passengers. Double-deck coaches seat from 150 to 170 people. Commuter trains usually do not offer any extra services. Intercity trains cover great distances and are provided with dining cars, sleeping cars, baggage cars in addition to coaches. 
The importance of intercity or commuter traffic varies from country to country. In England, Germany, France, Russia, India, Japan, China railways are historically very important for transportation. In the USA and Canada, the number of rail passengers has declined sharply since the 1940's, because more and more people prefer to travel by automobiles or airplanes. Railways now carry about 1% of all US intercity passengers. As for commuter traffic, it is very popular all over the world. More than 75% of all business travelers in America, Europe and Asia use commuter trains. Every day, high-speed commuter trains carry millions of people to and from work in such cities as New York, Chicago, San Francisco, Los Angeles, Toronto, London, Paris, Berlin, Rome, Madrid, Moscow, Tokyo, Beijing, Hong Kong. A commuter train carries as many passengers as 1,000 automobiles do. By reducing the number of automobiles, commuter trains relieve rush-hour traffic jams on highways, save fuel and protect the environment. 
Задание 7. Ответьте письменно на вопросы по тексту.
1. What are the main types of passenger trains ?
2. How many passengers does a commuter train carry?
ВАРИАНТ 10
Задание 1.Перепишите и переведите предложения, обращая внимание на употребление времён группы Indefinite (Present, Past, Future) в страдательном залоге. Выпишите сказуемые и укажите их видовременные формы.
1. In Hong Kong the new trains carrying passengers to and from the airport are equipped with TVsets to give information on flights, news, tourist information and weather.
2. The diesel locomotive is not connected to the contact wire, like the electric locomotive, so it is especially suitable for shunting works.
3. Under this program suburban and regional passenger services will be financed from local budgets.
4. The switch and signal positions are indicated on an illuminated diagram by means of small colour lights.
5. Before 1947 the British Railways were owned by four private companies.
Задание 2.Перепишите и переведите предложения, поставив глагол в нужную форму (Present, Past или Future Indefinite Active или Passive).
1. In the compartment passengers usually [to put] their suitcases into a special box under the lower berth.
2. This train is much faster, and it [to take] you less time to get to your destination.
3. The car badly [to damage] in the accident and [to take] to repair shop.
4. The bridge [to join] the island to the mainland.
5.  Last year a train fare more than [to double] because of inflation.
Задание 3.Перепишите и переведите следующие предложения. Подчеркните модальные глаголы или их эквиваленты в английских предложениях.
1. A caution must be added: although this experimental method works well, even the slightest amount of water in the vessel will make it inaccurate.
2. It’s quite clear that no modern railway can exist without ATC (automatic train control).
3. There was no place where we could sit.
4. Track circuit must be protected from electrical interference.
5. You need not answer the question if you don’t want to.
Задание 4.Перепишите и переведите предложения, обращая внимание на употребление Participle I и Participle II в функциях определения и обстоятельства. Выпишите причастия и укажите их вид .
1. The first British petrol-driven car called “The Knight” moved at a speed of only 8 miles per hour.
2. The Moscow Underground consists of a circle line, which runs round the city center, several radial lines crossing the city and connecting with each other and the lines running to the countryside.
3. When drawn by an electric locomotive, the train may consist of more than 90 cars.
4. They stopped their experiments having obtained the necessary results.
5. Pieces of broken glass were seen everywhere.
Задание 5. Перепишите и переведите предложения, употребив глаголы, данные в скобках, в соответствующей форме причастия.
1. The wagons with [to isolate] walls, roofs and floors are known as the
refrigerator cars.
2. Ships are equipped with radar sets [to assist] them to orient at sea.
3. An unusual locomotive [to build] for the movement on ice was developed in Great Britain in the 18th century.
4. The cause of the accident was a [to break] brake shoe.
5. The signals and switches are operated electrically from a large illuminated panel [to stand] in front of the dispatcher's desk.
Задание 6. Перепишите и письменно переведите  текст на русский язык.
RUSSIAN RAILWAYS
The territory of Russia stretches across 2 continents. From the east to the west, the territory measures about 10,000 km, and from the north to the south – over 4,000 km. The vast area of the country, the unique natural resources, most of which are located in the Far East and Siberia, the development of agriculture, industry and trade make a highly developed railway network vitally important for Russia. Railways are closely connected with the economic growth, scientific development and regional integration of the country. 
In 2003, a massive reform was implemented 1) to ensure the unity and structural integrity of the Russian rail network and 2) to separate the state regulation of the Ministry of Transport (MT) from the operational management. In September 2003, the Joint Stock Company Russian Railways (JSC RZD) was founded. Now RZD manages infrastructure and operates passenger and freight services. In 2007 and 2010, RZD established the First Freight Company (FFC) and the Second Freight Company (SFC), respectively. A new logo was adopted in 2008. In July 2010, RZD and the German Corporation Siemens signed an agreement for producing 240 electric multiple units (EMU) and upgrading 22 marshaling yards. In 2012, RZD became one of the 3 largest transport companies in the world. 
Nowadays, railways connect 85 regions of the country, providing services to major cities and settlements across 11 time zones. Rail tracks span Eurasia from Kaliningrad on the Baltic Sea to the Sakhalin Island on the Sea of Japan; from the polar city of Murmansk to the warm Black Sea. Trains pass 138 tunnels and 30,727 bridges. Direct routes are available to many foreign countries, linking Russia with national railway networks of Finland, France, Germany, Poland, China, Mongolia and North Korea. Russia has the second largest rail network in the world after the USA and the second longest electrified route after China. The working staff of more than 976,000 people makes RZD the biggest employer in the country. 
Задание 7. Ответьте письменно на вопросы по тексту.
1. When was the JSC RZD founded?
2. What were the major aims of the 2003 reform?
КРАТКИЙ ГРАММАТИЧЕСКИЙ СПРАВОЧНИК
§ 1. Глагол to be
Глаголto be в Present, Past и Future Indefinite имеет следующие формы:
	Present
	Past
	Future

	I am
he, she, it is
we, you, they are
	I, he, she, it was
we, you, they were
	I, we shall be
he, she, it, you, they will be



I am busy now.                                                        Я сейчас занят.
The Institute is far from the metro station.              Институт находится далеко от      
станции метро.                                                      
They are first year students.                                   Они студенты первого курса.
He was in London last year.                                   В прошлом году он был в Лондоне.
All the students were present at the lecture.          Все студенты присутствовали на  
лекции.
I shall be at home in the evening.                          Вечером я буду дома.
В вопросительном предложении глагол to be ставится перед подлежащим.
Is he busy now?                                                     Он сейчас занят?
Are they first year students?                                  Они студенты первого курса?
Where were you last year?                                    Где вы были в прошлом году?
When will he be at home?                                     Когда он будет дома?
Отрицательная форма глагола to be образуется с помощью отрицания not:
The Institute is not far from the metro station.      Институт находится недалеко от 
станции метро.
Yesterday he was not present at the lecture.          Вчера его не было на лекции.
On Sunday I shall not be in town.                         В воскресенье меня не будет в 
городе.
Примечания:
1) I am = I’m; you are = you’re; I shall be = I’ll be; they will be = they’ll be.
2) I am not = I’m not; he is not = he isn’t; you are not = you aren’t; she was not = she wasn’t; they were not = they weren’t; I shall not be = I shan’t be; he will not be = he won’t be.
§ 2. Глагол to have
Глаголto have в Present, Past и Future Indefinite имеет следующие формы:
	Present
	Past
	Future

	I, we, you, they have
he, she, it has

	I, he, she, it, we, you, they
had

	I, we shall have
he, she, it, you, they will
have


В разговорной речи глагол to have очень часто заменяется формой have got
(has got).
I have (got) a lot of work now.                             У меня сейчас много работы.
He has (got) an extra ticket. .                               У него есть лишний билет.
They had a lecture on philosophy yesterday.       Вчера у них была лекция по философии.
We shall have five exams.                                   У нас будет 5 экзаменов.
Вопросительная форма глагола to have в Present Indefinite образуется двумя
способами:
1) путём постановки глагола to have (have, has) перед подлежащим:
Has he got a map of London?                             У него есть карта Лондона?
What map has he got?                                       Какая карта есть у него?
Have you got any questions to the lecturer?     У вас есть вопросы к лектору?
What questions have you got?                           Какие у вас вопросы?
2) с помощью вспомогательного глагола to do (do; does):
Does he have a telephone?                               У него есть телефон?
What telephone does he have?                         Какой у него телефон?
Do you have a railway dictionary?                   У вас есть железнодорожный словарь?
What dictionary do you have?                           Какой словарь у вас есть?
Вопросительная форма глагола to have в Past Indefinite образуется с помощью вспомогательного глагола to do (did):
Did you have a good time at the weekend? Вы хорошо провели время в выходные?
Вопросительная форма глагола to have в Future Indefinite образуется путём постановки вспомогательного глагола shall (will) перед подлежащим:
Will you have any free time tomorrow?         Завтра у тебя будет свободное время?
When will you have any free time?                 Когда у тебя будет свободное время?
Отрицательная форма глагола to have в Present и Past Indefinite образуется двумя способами:
1) с помощью отрицательного местоимения no (или отрицательной группы not any):
I have no car.                                                      У меня нет машины.
He has not any car.                                            У него нет машины.
They had no choice.                                           У них не было выбора
2) с помощью вспомогательного глагола to do (do, does, did) и отрицания not:
We do not have a telephone directory.             У нас нет телефонного справочника.
He does not have a train ticket.                        У него нет билета на поезд.
I did not have much work to do yesterday.       Вчера у меня было немного работы.
Примечания:
1) I have = I’ve.
2) I have not = I haven’t; she has not = she hasn’t; we had not = we hadn’t; they will not have = they won’t have; I shall not have = I shan’t have; you do not have = you don’t have; he does not have = he doesn’t have; they did not have = they didn’t have.
§ 3. Оборот there + to be
Оборот there + to be используется для выражения наличия или отсутствия какого-либо лица или предмета в определённом месте и переводится на русский язык при помощи слов: есть, имеется, находится, существует или близкими по значению. Перевод предложений с оборотом there + to be нужно начинать с обстоятельства места, если оно указано, или со сказуемого, если обстоятельство отсутствует.
There was an accident on the road.             На дороге произошла авария.
There are many types of cars.                     Существует много типов вагонов.
В этом обороте слово there  утратило какое-либо значение и стало формальным, т.е. оно не переводится. Глагол to be употребляется в соответствующем времени и числе, которое согласуется с последующим существительным. (There is a car…; There are cars…; There was a car…; There were cars…; There will be a car…).
В вопросительной форме глагол to be ставится на первое место (перед there).
В отрицательной форме после глагола to be ставится отрицательное местоимение no (или отрицательные группы not any, not many и т.п.).
1) Are there usually two conductors in        В пассажирском вагоне обычно бывает the carriage?                                           два проводника?
How many conductors are there usually in  Сколько проводников обычно бывает 
the carriage?                                                в пассажирском вагоне?
There are no conductors in the freight car.      В товарном вагоне нет проводников.
2) Were there two vacant seats in the bus?      В автобусе было два свободных
места?
How many vacant seats were there in the bus? Сколько свободных мест было в
автобусе?
There were no vacant seats in the bus.             В автобусе не было свободных мест.
3) Will there be 6 stations on this metro line?  На этой линии метро будет 6
станций?
How many stations will there be on this        Сколько станций будет на этой линии
metro line?                                                       метро?
There will be not many stations on this          На этой линии метро будет немного
metro line.                                                        станций.
§ 4. Основные формы глагола
Глагол в английском языке имеет 4 основные формы. По способу образования
2 и 3 форм глаголы делятся на правильные (стандартные) и неправильные (нестандартные).
Таблица основных форм глагола
	I форма
Infinitive
	II форма
Past Indefinite
	III форма
Past
Participle
	IV форма
Present
Participle

	to live
(правильный)
	lived

	lived

	living


	to begin
(неправильный)
	began

	begun

	beginning



§ 5. Времена групп Indefinite, Continuous, Perfect
в действительном и страдательном залогах
Группа времён Indefinite представляет действие как факт и служит для выражения отдельных или повторных действий в настоящем, прошедшем и будущем времени.
A) The Present Indefinite Tense часто уточняется обстоятельствами типа always всегда, often часто, seldom редко, sometimes иногда, usually обычно, every day (month, year) каждый день (месяц, год), as a rule как правило. Например: I always go to work by Metro. – Я всегда езжу на работу на метро.
B) The Past Indefinite Tense часто уточняется обстоятельствами типа yesterday вчера, ago тому назад, last week (month, year) на прошлой неделе (месяце, году), the other days на днях или конкретной датой, а также используется в вопросительных предложениях, начинающихся со слов when? когда? what time? в какое время? Например: The first Metro station in our city was put into operation 10 years ago. – Первая станция метро в нашем городе была открыта 10 лет назад . When did you arrive home? – Когда вы добрались домой?
C) The Future Indefinite Tense может уточняться обстоятельствами типаtomorrow завтра, tonight сегодня вечером,the day after tomorrow послезавтра, next week (month, year) на следующей неделе (месяце, году), soon скоро, in…days (hours) через…дней (часов), или конкретной датой. Например: I shall come home in 2 hours. – Я приду домой через 2 часа.
Группа времён Continuous представляет действие как процесс и служит для выражения продолжающегося, незаконченного действия, происходящего в какой-либо момент в настоящем, прошедшем или будущем времени.
A) The Present Continuous Tense выражает действие, совершающееся в момент речи. Часто уточняется словами now сейчас, at present в настоящее время. Например: He is carrying out an experiment now. – Он сейчас проводит эксперимент.
B) The Past Continuous Tense выражает незаконченное действие: а) совершавшееся в определённый момент в прошлом, который может обозначаться либо точным указанием времени (at…o’clock; at that moment; from…till; all day long; throughout 2003; the whole evening) или другим однократным действием, выраженным глаголом в Past Indefinite. Например: The car was being repaired all day long – Машину ремонтировали весь день . When I came he was repairing his bicycle. – Когда я пришёл, он ремонтировал свой велосипед; б) совершавшееся одновременно с другим действием. Например: While he was having lunch, his car was being cleaned and fueled. – Пока он обедал, его машину мыли и заправляли.
C) The Future Continuous Tense выражает незаконченное действие, которое будет совершаться в определённое время в будущем, которое может быть обозначено обстоятельствами типа at…o’clock, at that time или придаточным предложением. Например: She will be working til l you come . – Она будет работать до вашего прихода. Tomorrow at this time I shall be going by train. – Завтра в это время я буду ехать на поезде.
Формы Perfect выражают действие, совершённое к определённому моменту в настоящем, прошедшем и будущем.
A) The Present Perfect Tense выражает действие, завершившееся к моменту речи. Этот момент: а) может быть совсем не обозначен. Например: The car has been repaired. – Машину отремонтировали; б) может быть выражен обстоятельствами типа already уже, recently недавно, ever когда-либо, never никогда, just только что, not yet ещё не, today сегодня, this week (month, year) на этой неделе (месяце, году), for ages целую вечность. Например: I have never been to London. – Я никогда не был в Лондоне.
The Present Perfect Tense так же может выражать действие, которое началось в прошлом и не закончилось к данному моменту. Часто в этом случае употребляется предлог since с. Например: She has not been to Moscow since 1990. – Она не была в Москве с 1990 года.
B) The Past Perfect Tense выражает действие, завершённое до какого-либо момента или действия в прошлом, который может быть обозначен обстоятельством с предлогом by к, либо придаточным предложением с глаголом в Past Indefinite.
Например: By the 1st of September all the road works had been finished. – К первому сентября все дорожные работы были завершены. When we came to the station, the train had already left. – Когда мы пришли на станцию, поезд уже ушёл.
C) The Future Perfect Tense выражает действие, которое будет завершено до определённого момента, или действия в будущем. Этот момент уточняется обстоятельством с предлогом by к или придаточным предложением с глаголом в Present Indefinite. Например: When you come I shall have finished translating the text. – Когда ты придёшь, я закончу переводить текст. By the end of the year the railway will have been opened for traffic. – К концу года железная дорога будет открыта для движения.
Таблица времён в действительном залоге (Tenses in Active Voice)
	
	Present
	Past
	Future

	Indefinite

	V1
he, she, it V1 + -s

	V2

	shall
             +V1
will


	Continuous

	am
is           +V4
are

	was
                  +V4
were

	shall be
+V4
will be


	Perfect

	have
               +V3
has

	had + V3

	shall have
+V3
will have



Спряжение глагола to ask в действительном залоге
	
	Present
	Past
	Future

	Indefinite

	I, we, you, they ask
he, she, it asks

	I, he, she, it we, you,
they asked

	I, we shall ask
he, she, you, they will ask


	Continuous

	I am asking
he, she, it is asking
we, you, they are asking

	I, he, she, it was asking
we, you, they were
asking

	I, we shall be asking
he, she, you, they will be
asking


	Perfect

	I, we, you, they have
asked
he, she, it has asked

	I, he, she, it, we, you,
they had asked

	I, we shall have asked
he, she, it, you, they
will have asked



Таблица времён в страдательном залоге (Tenses in Passive Voice)
	to be+V3

	Present
	Past
	Future

	Indefinite

	am
is           + V3
are

	was
              + V3
were

	shall
                   + be V3
will


	Continuous

	am
is        + being V3
are

	was
            + being V3
were

	________


	Perfect

	have
           + been V3
has

	had been + V3

	shall
           + have been V3
will



Спряжение глагола to ask в страдательном залоге
	
	Present
	Past
	Future

	Indefinite

	I am asked
he, she, it is asked
we, you, they are asked

	I, he, she, it was asked
we, you, they were
asked

	I, we shall be asked
he, she, it, we, you, they
will be asked


	Continuous

	I am being asked
he, she, it is being asked
we, you, they are being
asked

	I, he, she was being
asked
we, you, they
were being asked

	__________


	Perfect

	I, we, you, they
have been asked
he, she, it has been asked

	I, he, she, it, we, you,
they
had been asked

	I, we shall have been asked
he, she, it, we, you, they
will have been asked



Примечания:
1) Подлежащее в английском предложении с глаголом в страдательном залоге переводится на русский язык в винительном или дательном падежах.
He was asked to buy tickets.                     Его попросили купить билеты.
He was asked many questions.                 Ему задали много вопросов.
2) За сказуемым в страдательном залоге в английском предложении может следовать предлог. При переводе на русский язык этот предлог ставится перед подлежащим.
This accident is much spoken about.      Об этом несчастном случае много говорят.
§ 6. Модальные глаголы (Modal Verbs)
	Present
	Past
	Future

	must
должен
All drivers must follow the traffic rules – Все водители должны соблюдать правила дорожного движения
	___________

	___________

	can
мочь, уметь
He can drive a car – Он умеет водить машину

	could
смог, мог, сумел
He could not start his car – Он не смог завести машину.
	___________

	may
мочь, иметь разрешение
You may use my mobile telephone. – Ты можешь воспользоваться моим мобильным телефоном.

	might
смог, сумел, разрешили
He said that the train might be late. – Он сказал, что поезд может опоздать. I was told that I might come in – Мне сказали, что я могу (мне разрешили) войти.
	___________

	should
следует, должен, нужно
He should be more attentive. – Ему следует быть внимательнее
	___________
	___________

	need (not)
можете не, не нужно; нужно
ли?
You need not come here tomorrow. – Можете не приходить сюда завтра. You needn’t buy any tickets; the admission is free. – Билеты не нужно покупать; вход - свободный
	___________
	___________


§ 7. Эквиваленты модальных глаголов
(Equivalents of Modal Verbs)
must = to have to, to be to
can = to be able to
may = to be allowed to
	Present
	Past
	Future

	have to
has to
должен, приходится
He has to work hard. – Ему приходится много работать.

	had to
должен был, пришлось
He had to work hard. – Ему пришлось много работать.

	shall have to
will have to
придётся
He will have to work hard. – Ему придётся много работать.


	am to
is to
are to
должен, вынужден
The train is to arrive at 5. – Поезд должен прийти в 5.

	was to
were to
должен был, вынужден был
The train was to arrive at 5. – Поезд должен был прибыть в 5.

	

	am able to
is able to
are able to
мочь, уметь
He is able to run 10 km. – Он может пробежать 10 км.

	was able to
were able to
смог, сумел
He was able to run 10 km. – Он смог пробежать 10 км.

	shall be able to
will be able to
сможет, сумеет
He will be able to run 10 km. – Он сможет пробежать 10 км.


	am allowed to
is allowed to
are allowed to
мочь, иметь разрешение
She is allowed to operate the computer. – Ей разрешают работать на компьютере.

	was allowed to
were allowed to
разрешили
She was allowed to operate the computer. – Ей разрешили поработать на компьютере.

	shall be allowed to
will be allowed to
сможем, разрешат
She will be allowed to operate the computer. – Ей разрешат поработать на компьютере.



§ 8. Порядок слов в утвердительных предложениях
В отличие от русского языка, где свободный порядок слов, в английском языке строгоnфиксированный порядок слов. Схема порядка слов в предложении следующая:
П – С – Д (П – подлежащее, С – сказуемое, Д – дополнение). Обстоятельства места и времени могут стоять перед подлежащим и после дополнения.
James Watt invented the stationary steam             James Watt изобрёл стационарный
engine in 1763.                                                      паровой двигатель в 1973 году.
In Russia the first steam locomotive was         В России первый паровоз был создан
built by the Cherepanovs.                                 Черепановыми.
§ 9. Порядок слов в вопросительных предложениях
В английском языке существует несколько типов вопросов. Мы рассмотрим общие и специальные.
а) Общий вопрос – это вопрос, который задаётся ко всему предложению и требует краткого ответа “да” или “нет”. На первое место в таких вопросах ставится вспомогательный глагол. Схема порядка слов в общем вопросе следующая:
	вспомогательный
(модальный) глагол
	подлежащее
	основной глагол
	второстепенные
члены предложения

	Do
Are 
May
	you
they
I

	live
playing
take

	in London?
chess now?
your pen?



Если сказуемое простое, то нужно употреблять вспомогательный глагол to do (do –если сказуемое в I форме без окончания –s; does – если сказуемое в I форме с окончанием –s; did – если сказуемое во II форме), при этом основной глагол во всех случаях ставится в I форму без окончания –s.
They speak English.                                    Do they speak English?
She goes to school.                                      Does she go to school?
He bought a car.                                         Did he buy a car?
Если сказуемое составное, то вспомогательный (или модальный) глагол, который входит в состав сказуемого, нужно перенести на первое место в предложении, при этом форма основного глагола не изменяется.
He has already left.                                  Has he already left?
They were going home.                          Were they going home?
She can speak English.                          Can she speak English?
Paul will come at 6.                               Will Paul come at 6?
б) Специальный вопрос – это вопрос, который задаётся к одному члену предложения и требует полного ответа. Схема порядка слов в специальном вопросе следующая:
	вопросительное
слово
	вспомогательный
(модальный) глагол
	подлежащее
	основной
глагол
	второстепенные
члены
предложения

	Where
What
When

	does
are
will

	he
you
the train

	live?
doing
arrive
	now?
at the station?


Вопросительные слова:
who кто; whom кого, кому, кем; whose чей, чья, чьё; what что, какой; which который (из двух или нескольких); where где, куда; when когда; how как; how long как долго; how often как часто; how many, how much сколько; why почему, зачем.
Примечания:
1) Если вопрос задаётся к определению и начинается с вопросительного слова what? какой? how many (much)? сколько? whose? чей? то между вопросительным словом и вспомогательным глаголом нужно ставить существительное.
She studies at the Railway Academy.             What Academy does she study at?
They walked 10 km.                                       How many kilometers did they walk?
2) Если вопрос задаётся к подлежащему и начинается с вопросительного слова who? кто? what? что?, то сказуемое, следующее сразу за вопросительным словом, всегда имеет форму 3 лица единственного числа.
They like to read books.                         Who likes to read books?
We are reading a book.                         Who is reading a book?
They have gone.                                     Who has gone?
The articles were translated.                 What was translated?
I shall repair the engine.                        Who will repair the engine?
Порядок слов в вопросительных предложениях с простым сказуемым
	Утвердительное
предложение
	
	
	1.They
2. He
3. She
	work
works
worked
	at the railway.
at the railway.
at the railway.

	Общий вопрос

	
	1. Do
2. Does
3. Did

	they
he
she

	work
work
work

	at the railway?
at the railway?
at the railway?


	Специальный
вопрос

	1.Where
2.Where
3.Where

	do
does
did

	they
he
she

	work?
work?
work?

	

	Специальный
вопрос к
определению
	1.What railway
2.What railway
3.What railway
	do
does
did
	they
he
she
	work
work
work
	at?
at?
at?

	Вопрос к
подлежащему

	1.Who
2.Who
3.Who
	
	
	works
works
worked
	at the railway?
at the railway?
at the railway?


Порядок слов в вопросительных предложениях с составным сказуемым
	Утвердительное
предложение
	
	
	1. They
2. His friends
3. She

	are building
have left
may use

	a large house.
for London.
my mobile phone.


	Общий вопрос

	
	1.Are
2.Have
3.May

	they
his friends
she

	building
left
use

	a large house?
for London?
your phone?


	Специальный
вопрос

	1.What
2.Where
3.What

	are
have
may

	they
his friends
she

	building?
left
use?

	for?


	Специальный
вопрос к
определению
	1.What house
2.What city
3.Whose phone

	are
have
may

	they
his friends
she

	building?
left
use?

	for?


	Вопрос к
подлежащему

	1.Who
2.Who
3.Who

	is
has
may

	
	building
left
use

	a large house?
for London?
your phone?



Примечание:
Порядок слов в вопросительных предложениях с оборотом there +to be и со сказуемым to be или to have см в §1, §2, §3.
§ 10. Порядок слов в отрицательных предложениях
Отрицательная форма предложений образуется при помощи отрицания not или no.
1. Если сказуемое простое, то отрицание not ставится после вспомогательного глагола to do (do, does, did), причём само сказуемое нужно поставить в I форму.
They study at the Institute.                 They do not (don’t) study at the Institute.
This firm repairs computers.              This firm does not (doesn’t) repair computers.
In summer I traveled by sea.               In summer I did not (didn’t) travel by sea.
He bought a ticket in advance.            He did not (didn’t) buy a ticket in advance.
2. Если сказуемое составное глагольное, то отрицание not ставится после вспомогательного или модального глагола, входящего в состав сказуемого; при этом форма основного глагола не изменяется.
The train has already arrived.                    The train has not (hasn’t) arrived yet.
The escalator is being repaired now.         The escalator is not (isn’t) being repaired 
now.
We were invited to the conference.             We were not (weren’t) invited to the 
conference.
Примечание: Порядок слов в отрицательных предложениях с оборотом there+to be и со сказуемым to be или to have см. в §1, §2, §3.
§ 11. Притяжательный падеж имени существительного
(The Possessive Case)
Существительное в притяжательном падеже является определением к последующему существительному и отвечает на вопрос whose? чей?
Притяжательный падеж существительных в единственном числе образуется при помощи апострофа и окончания -s (my friend’s letter – письмо моего друга).
Притяжательный падеж существительных во множественном числе образуется с помощью только апострофа (my friends’ letter – письмо моих друзей).
В притяжательном падеже употребляются:
а) существительные, обозначающие одушевлённые предметы:
this professor’s lecture                             лекция этого профессора
our secretary’s office                               офис нашего секретаря
b) существительные, обозначающие названия стран, городов:
Russia’s gold reserve                              золотой запас России
c) существительные, обозначающие меры времени, расстояния, веса:
three hours’ flight                                   трёхчасовой полёт
five kilometers’ distance                        расстояние в 5 километров
two hours’ work                                    двухчасовая работа
d) Существительные world, earth, planet, sun, moon, city, ship, train, company, commission и т. п:
the ship’s arrival                                 прибытие корабля
the sun’s influence                              влияние солнца
e) наречия времени today, yesterday, tomorrow:
yesterday’s meeting                           вчерашнее собрание
§ 12. Степени сравнения прилагательных и наречий
	Положительная степень

	Сравнительная степень

	Превосходная степень


	1.Односложные прилагательные и наречия
high - высокий
near - близко
2. Двусложные прилагательные и наречия, которые заканчиваются на –y
happy – счастливый

	higher – выше, более высокий
nearer - ближе
happier – счастливее,
более счастливый

	the highest – высочайший, самый высокий
the nearest - ближе всех
the happiest – самый
счастливый


	Многосложные прилагательные и наречия
interesting -интересный

	more interesting – интереснее, более интересный
less interesting – менее
интересный

	the most interesting – самый интересный, интереснейший
the least interesting – самый неинтересный


	Исключения:
good, well – хороший, хорошо
bad, badly – плохой, плохо
many, much – много
little – мало

	better – лучше
worse – хуже
more – больше
less – меньше
	the best – самый лучший, лучше всего
the worst – самый плохой, хуже всего
the most – самый
большой, больше всего
the least – самый маленький, меньше всего


Примечание:
Такие прилагательные как simple простой, clever умный, narrow узкий, shallow мелкий образуют степени сравнения двумя способами. Например: narrower уже, the narrowest самый узкий или more narrow уже, the most narrow самый узкий.
§ 13. Причастие (The Participle)
Причастие является неличной формой глагола. В английском языке существует два вида причастий: Participle I и Participle II.
Participle I (причастие настоящего времени) может иметь простую форму, которая образуется путём прибавления окончания –ing к основе глагола ( to read – reading, to ask – asking, to drive – driving) и сложные формы, которые образуются при помощи вспомогательного глагола to be или to have и III формы основного глагола (to read –having read, to ask – being asked, to stop – having stopped).
Participle II (причастие прошедшего времени) имеет только простую форму.
Participle II правильных глаголов образуется путём прибавления окончания -ed к основе глагола (to train – trained, to work – worked, to ask – asked). Participle II неправильных глаголов см. в таблице нестандартных глаголов (III колонка) (to give – given, to write– written, to build – built).
Participle I
Participle I (non-perfect) выполняет в предложении следующие функции:
1) часть составного глагольного сказуемого в Continuous.
He is waiting for you near the booking office.       Он ждёт вас у кассы.
2) определение. Participle I в функции определения находится до или после определяемого слова и переводится на русский язык действительным причастием настоящего времени, оканчивающимся на –ущий, -ющий, -ащий, -ящий (делающий, бегущий, соединяющий) или действительным причастием прошедшего времени, оканчивающимся на –вший (когда глагол-сказуемое стоит в прошедшем времени) (делавший, бежавший, соединявший).
The man waiting for you has come from       Человек, ожидающий вас, приехал из
London.                                                           Лондона.
The engineer delivering the report gave        Инженер, делавший доклад, привёл
many interesting examples.                            много интересных примеров.
3) обстоятельство. Participle I в функции обстоятельства находится в начале предложения или в середине предложения после запятой, и переводится на русский язык деепричастием несовершённого вида, оканчивающимся на –а, -я (делая, рассказывая, рисуя, проезжая).
He saw many interesting things, while      Путешествуя по стране, он видел много
traveling about the country.                      интересного.
Waiting for the train arrival I looked        Ожидая прибытия поезда, я
through the magazines.                              просматривал журналы.
Примечания:
1. Participle I не всегда имеет эквивалентное деепричастие в русском языке; в таких случаях оно переводится придаточным предложением. Например: writing a letter – когда писал письмо.
2. Часто перед Participle I в функции обстоятельства ставится союз while или when. Такие предложения можно перевести 3 способами:
While translating the article the student    1) Переводя статью, студент 
consulted the dictionary.                                  пользовался словарём.
2) Когда студент переводил статью, он
пользовался словарём.
3) При переводе статьи студент пользовался
словарём.
Participle I (perfect) выражает действие, предшествующее действию, выраженному сказуемым. Оно обычно находится в начале предложения и переводится на русский язык деепричастием совершённого вида (сделав, рассказав, прибежав). В предложении Participle I (perfect) выполняет функцию обстоятельства.
Having finished the test he put down                Закончив испытание, он записал
the results.                                                           результаты.
Participle II
Participle II может выполнять в предложении следующие функции:
1) часть составного глагольного сказуемого.
The railway will be opened for traffic              Железная дорога будет открыта для
next month.                                                        движения в следующем месяце.
2) определение. Participle II в функции определения находится до или после определяемого слова и переводится на русский язык страдательным причастием настоящего или прошедшего времени, оканчивающимся на –емый (-имый), -нный, -тый (сделанный, используемый, вымытый).
The proposed plan is very interesting.         Предлагаемый (предложенный) план
очень интересен.
They agreed to the design worked out         Они согласились с проектом,
by our engineer.                                             разработанным нашим инженером.
3) обстоятельство. Participle II в функции обстоятельства находится в начале предложения, часто после союзов when, if, though, и переводится на русский язык придаточным предложением или существительным с предлогом.
Though overstressed, the machine               Несмотря на перегрузку, машина
kept on running.                                             продолжала работать.
When burned, coal produces heat.               При горении угля выделяется тепло.
ТАБЛИЦА НЕСТАНДАРТНЫХ ГЛАГОЛОВ
	Infinitive
	Past Simple
	Participle II
	Перевод

	be
bear
become
begin
blow
break
bring
build
buy
catch
choose
come
cost
cut
do
draw
drink
drive
eat
fall
feed
feel
fight
find
fly
forget
freeze
get
give
go
grow
have
hear
hide
hit
hold
keep
know
lead
learn
leave
lend
let
lie
lose
make
mean
meet
pay
put
read
ride
ring
rise
run
say
see
sell
send
set
shake
shine
shoot
show
sing
sit
sleep
smell
speak
spend
stand
steal
strike
swim
take
teach
tell
think
throw
understand
upset
wake
wear
weep
win
write
	was, were
bore
became
began
blew
broke
brought
built
bought
caught
chose
came
cost
cut
did
drew
drank
drove
ate [et]
fell
fed
felt
fought
found
flew
forgot
froze
got
gave
went
grew
had
heard
hid
hit
held
kept
knew
led
learnt/learned
left
lent
let
lay
lost
made
meant
met
paid
put
read [red]
rode
rang
rose
ran
said [sed]
saw 
sold
sent
set
shook
shone
shot
showed
sang
sat
slept
smelt
spoke
spent
stood
stole
struck
swam
took
taught
told
thought
threw
understood
upset
woke
wore
wept
won
wrote
	been
born
become
begun
blown
broken
brought
built
bought
caught
chosen
come
cost
cut
done
drawn
drunk
driven
eaten
fallen
fed
felt
fought
found
flown
forgotten
frozen
got
given
gone
grown
had
heard
hidden
hit
held
kept
known
led
learnt/learned
left
lent
let
lain
lost
made
meant
met
paid
put
read [red]
ridden
rung
risen
run
said [sed]
seen
sold
sent
set
shaken
shone
shot
shown
sung
sat
slept
smelt
spoken
spent
stood
stolen
struck
swum
taken
taught
told
thought
thrown
understood
upset
woken
worn
wept
won
written
	быть; находиться
рожать
становиться
начинать(ся)
дуть
разбивать(ся)
приносить
строить
покупать
ловить; хватать
выбирать
приходить
стоить
резать; рубить
делать
тянуть, везти
пить
ехать; везти
есть
падать
кормить
чувствовать
бороться; драться
находить
летать
забывать
замерзать
получать; добираться
давать
идти, ехать
расти, увеличиваться
иметь
слышать
прятать(ся)
ударять
держать
хранить
знать
вести
учить; узнавать
оставлять, уходить, уезжать
одолжить
позволять
лежать
терять
делать
означать
встречать(ся)
платить
класть; ставить
читать
ехать верхом
звонить
подниматься
бежать
сказать
видеть
продавать
посылать
ставить
трясти
светить
стрелять
показывать
петь
сидеть
спать
нюхать, пахнуть
говорить
проводить
стоять
красть
ударять
плавать
брать
обучать
сказать (кому-л.)
думать
бросать
понимать
опрокинуть, перевернуть
просыпаться
носить (об одежде)
плакать
побеждать, выигрывать
писать
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